MIAMI-DADE MIAMI-DADE COUNTY, FLORIDA

COUNTY] METRO-DADE FLAGLER BUILDING

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2902  FAX (305) 372-6339

NOTICE OF ACCEPTANCE (N OA) www.miamidade.gov/buildingcode

Rolling Shield Inec.

2500 N. W. 74™ Avenue

Miami, FL 33122

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed by Miami—Dade County Product Control
Division and accepted by the Board of Rules and Appeals (BORA) to be used in Miami—Dade County and
other areas where allowed by the Authority Having Jurisdiction (AHD).

This NOA shall not be valid after the expiration date stated below. The Miami—Dade County Product Control
Division (In Miami-Dade County) and/or the AHJ (in areas other than Miami—Dade County) reserve the right
to have this product or material tested for quality assurance purposes. If this product or material fails to
perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may
immediately revoke, modify, or suspend the use of such product or material within their jurisdiction. BORA
reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product Control
Division that this product or material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Series Extruded Aluminum 60mm Slat Roll-Up Shutters — L.M.I.

APPROVAL DOCUMENT: Drawing No. 09-041, titled “60mm Slat Roll-Up Shutter”, prepared by
Tilteco Inc., dated 06/01/09, sheets 1 through 16 of 16 including 1A, 3A, SA, 5B & 14A, with revision “1”
dated 04/03/09, signed and sealed by Walter A. Tillit Jr., P. E., bearing the Miami—Dade County Product
Control Revision stamp with the Notice of Acceptance number and expiration date by the Miami-~Dade
County Product Control Division.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LIMITATIONS:
1. Roll-up Mechanism is Not part of this approval and must be certified by independent testing agency.
2. Minimum separation from interior storm bar to existing glass shall be as shown on sheet 12 of 16.
LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and
following statement: "Miami—Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of
any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to
comply with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and
followed by the expiration date may be displayed in advertising literature. If any portion of the NOA is
displayed, then it shall be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 05-0929.03 and consists of this page 1 and evidence pages E~1 and E-2, as well
as approval document mentioned above.

The submitted documentation was reviewed by Jaime D. Gascon, P. E.

MIAMI-DAD UN NOA No. 090527.06
ROV Expiration Date: June 07,2014

[APPROVED
ﬁw Approval Date: July 02, 2009
"(\7-'\5‘ Page 1



Rolling Shield Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1. Manufacturer's die drawings and sections.
2. Drawing No 09-041, titled “60mm Slat Roll-Up Shutter”, prepared by Tilteco Inc.,
dated 06/01/09, sheets 1 through 16 of 16 including 1A, 3A, 5A, 5B & 14A, with
revision “1” dated 04/03/09, signed and sealed by Walter A. Tillit Jr., P. E.

B. TESTS
1. Test report on: 1) Uniform Static Air Pressure Test per PA 202,
2) Large Missile Impact Test per PA 201
3) Cyclic Wind Pressure Test per PA 203
along with marked—up drawings and installation diagram of Series CDA40, of
Aluminum Roll-Up Shutters, prepared by Fenestration Testing Laboratory, Inc., Test
Reports No.’s FTL 2485 dated 01/12/2000 and FTL3013 dated March 13, 2001,
signed and sealed by A. P. Gonzalez, P. E.
(Submitted under previous Association NOA # 06—0143 )
2. Test report on: 1) Large Missile Impact Test per PA 201,
along with marked-up drawings and installation diagram of Aluminum Storm Bar,
prepared by Fenestration Testing Laboratory, Inc., Report No.’s FTL. 2637, 2639,
2640, 2641 and 2642, all dated 07/25/2000, signed and sealed by A. P. Gonzalez, P. E.
(Submitted under previous Association NOA # 06—0143 )
3. Test report on: 1) Simple Loading Test, per FBC
along with marked-up drawings and installation of Aluminum Storm Bar, prepared by
Fenestration Testing Laboratory, Inc., Report No. FTL 3013, dated 03/ 13/2001,
signed and sealed by A. Acevedo, P. E.
(Submitted under previous Association NOA # 06—0143 )
4. Test report on: 1) Impact Test, per FBC, ASTM D 256,
2) Flexural Test, per FBC, ASTM D790
3) Tensile Property Tests, per FBC, ASTM D638
along with marked—up drawings and installation of plastic sample, prepared by
Certified Testing Laboratories, Inc., Report No. CTL 0410G, dated 04/09/2001 signed
and sealed by Ramesh Patel, P. E.
(Submitted under previous Association NOA # 06—01 43)

C. CALCULATIONS
1. Comparative analysis for slats; storm bars, headers, tracks, mullions and anchors,
using rational analysis dated 04/23/09, pages 1 through 201 of 201, prepared by
Tilteco, Inc. signed and sealed by Walter A. Tillit Jr., P. E.

(Submitted under Association NOA # 09-0613)

Y JaimeD. GaScon,\P. E.
Chief, Product Control Division
NOA No. 09-0527.06
Expiration Date: June 07,2014
Approval Date: July 02, 2009



Rolling Shield Inc.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

D. QUALITY ASSURANCE

1.

Miami Dade Building Code Compliance Office (BCCO).

E. MATERIAL CERTIFICATIONS

1.

None.

E. STATEMENTS

1. Statement Letter of product compliance to FBC and “No financial interest” dated
April 09, 2007, signed and sealed by Walter A. Tillit Jr., P. E.
(Submitted under Association NOA # 09—0611 )

2. Laboratory compliance letter for Test Report No. FTL. 2637, 2639, 2640, 2641 and
2642, issued by Fenestration Testing Laboratory, Inc., dated July 25, 2000, signed and
sealed by A. P. Gonzalez, P. E.
(Submitted under previous Association NOA # 0601 43)

3. Laboratory compliance letter for Test Report No. FTL 3013, issued by Fenestration
Testing Laboratory, Inc., dated March 13,2001, signed and sealed by A. Acevedo, P.
E.
(Submitted under previous Association NOA # 06-0143)

4. Laboratory compliance letter for Test Report No. CTL 0410G, issued by Certified
Testing Laboratories, Inc., dated April 09, 2001, signed and sealed by Ramesh Patel,
P.E.
(Submitted under previous Association NOA # 06-0143)

G. OTHERS

1. Notice of Acceptance No. 05-0929.03, issued to Rolling Shield, Inc. for their Series
“Extruded Aluminum 60mm Slat Roll-Up Shutters”, approved on 05/07/07 and
expiring on 06/07/09.

2. This NOA is approved as a Member of the National Shutter Association, Inc.
(Submitted under Association NOA # 09-0611 )

3. Release letter issued by National Shutter Association, Inc on 06/29/09 for “40mm
Rolling Shield Shutters, signed by Sam Downs, Association President.

4. Acknowledgement letter issued by Rolling Shield, Inc. on 06/29/09, signed by Jose A.
Delgado, President of Rolling Shield, Inc.

5. Acceptance letter issued to Rolling Shield, Inc. on 07/01/09, signed by Jose A.

Delgado, President of Rolling Shield, Inc. and signed by Rolf — Christian Friedrich,
Miami-Dade County BCCO — Product Control Engineer 1.

=Vl

Y Jaime D. Gascon, P. E.
Chief, Product Control Division
NOA No. 09-0527.06
Expiration Date: June 07, 2014
Approval Date: July 02, 2009



GENERAL_NOTES:

1. ROLL—UP SHUTTER SHOWN ON THIS PRODUCT APPROVAL DOCUMENT (P.A.D.) HAS BEEN VERIFIED FOR CODE
COMPLIANCE IN ACCORDANCE WITH THE 2007 EDITION OF THE FLORIDA BUILDING CODE.
THIS ROLL—UP SHUTTER MAY BE INSTALLED AT HIGH VELOCITY HURRICANE ZONES (MIAMI—-DADE/BROWARD
COUNTIES).
DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE.
IN ORDER TO VERIFY THAT COMPONENTS AND ANCHORS ON THIS P.A.D. AS TESTED WERE NOT OVER STRESSED,
A 33% INCREASE IN ALLOWABLE STRESS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS.
FASTENERS SPACING INTO WOOD HAS BEEN DETERMINED IN ACCORDANCE WITH N.D.S. 2005.

ROLL—UP SHUTTER'S ADEQUACY FOR IMPACT AND FATIGUE RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE
WITH SECTION 1626 OF THE ABOVE MENTIONED CODE AS PER TAS-201, 202 & 203 PROTOCOLS, AS PER

FENESTRATION TESTING LAB. REPORTS # 2639, 26086, 2640, 2641, 2642, 2637, 2736, 2737 & 3013.

2. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063-T6 ALLOY & TEMPER (UNLESS OTHERWISE
NOTED).

3. ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 AIS! SERIES OR CORROSION RESISTANT COATED CARBON

STEEL AS PER DIN 50018 W/ 50 ksi YIELD STRENGTH AND 90 ksi TENSILE STRENGTH. ALL TEK SCREWS SHALL
BE AS MANUFACTURED BY ITW BUILDEX, INC.

4. BOLTS TO BE ASTM A-307 GALVANIZED STEEL OR AISI 304 SERIES STAINLESS STEEL, WITH 35 ksi MINIMUM
YIELD STRENGTH.

5. STORM BARS AT FLOOR AND CEILING MOUNTING INSTALLATIONS MAY BE REMOVABLE AT NON HURRICANE
CONDITIONS. HOWEVER, EACH STORM BAR SHALL BEAR A PERMANENT LABEL IN A VISIBLE PLACE WITH A
WARNING NOTE INSTRUCTING THE TENANT OR OWNER THAT STORM BARS MUST BE INSTALLED WITH
CORRESPONDING HARDWARE DURING PERIODS OF HURRICANE WARNING AND THAT ROLL UP SHUTTERS WILL NOT
OFFER HURRICANE PROTECTION UNLESS ALL STORM BAR ARE INSTALLED AS DIRECTED.

6. REMOVABLE STORM BARS SHALL BE STORED IN A CONSPICUOUS PLACE WITH EASY AND IMMEDIATE ACCESS SO
THAT THEY CAN BE REACHED AND INSTALLED ANY TIME (HURRICANE CONDITIONS OR NOT) SLATS ARE ROLLED
DOWN. THE EFFECT OF THE SLATS ROLLED DOWN WITHOUT STORM BARS IS; THOSE SLATS WILL SLIP OUT OF
TRACK DUE TO THE DEFLECTION CAUSED BY WIND FORCES.

WHEN REMOVING STORM BARS, ONE STORM BAR SHALL ALWAYS BE LEFT INSTALLED (SHALL NOT BE REMOVED).
THIS CONDITION IS ONLY REQUIRED FOR HEADER SPANS EQUAL OR GREATER THAN 12'-0".

7. ANCHORS TO WALL FOR SIDE RAILS & BOX CONNECTION SHALL BE AS FOLLOWS (UNLESS OTHERWISE NOTED):

(A) TO EXISTING POURED CONCRETE (Min. f'c=3192 psi):
~ 1/4"¢ TAPCON ANCHORS, AS MANUFACTURED BY [TW BUILDEX, INC.

NOTES:

A.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO POURED CONCRETE IS 1 3/4". NO EMBEDMENT INTO
STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED EMBEDMENT.

A.2) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING
WALL OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH
PANELS. ANCHORAGE SHALL BE AS INDICATED ON NOTE A.1 ABOVE.

(B) TO EXISTING CONCRETE BLOCK WALL (ASTM C—90):
— 1/4" ¢ TAPCON ANCHORS AS MANUFACTURED BY [TW BUILDEX, INC.

NOTES:

B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO CONCRETE BLOCK UNIT SHALL BE 1 1/4".

B.2) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL,
ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS.
ANCHORAGE SHALL BE AS INDICATED ON NOTE B.1 ABOVE.

(C) TO EXISTING WOOD FRAME BUILDING: SOUTHERN PINE #2 W/ G=0.55 MIN.
- 1/4"¢ LAG SCREWS PER N.D.S.

NOTES:

C.1) MINIMUM THREADED PENETRATION OF LAG SCREWS INTO THE WOOD FRAME UNIT SHALL BE 1 1/2”
NO THREADED PENETRATION INTO STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED
THREADED PENETRATION.

C.2) MINIMUM EDGE DISTANCE OF LAG SCREWS INTO WOOD SHALL BE AS INDICATED ON SHEET 11.

C.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE OR BRICK PANELS, VENEER OR PAVERS BE
FOUND ON THE EXISTING WALL, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN SUBSTRATE
BEHIND SUCH PANELS.

MINIMUM THREADED PENETRATION SHALL BE AS INDICATED ON NOTE C.1 ABOVE.

8. ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE
ANCHOR'S MANUFACTURER.

9. ANCHORS REQUIRED FOR STORM BARS, HEADER & MULLIONS CONNECTIONS TO CONCRETE (MIN. f'c¢=3000 PSI)
SHALL BE AS SPECIFIED ON APPLICABLE SECTIONS SHOWN ON SHEETS 5, 5A, 5B, 6, 7, 8 & 10 OF 16
RESPECTIVELY.

—CALK—IN ANCHORS TO BE AS MANUFACTURED BY POWERS FASTENERS, INC.
—TAPCON ANCHORS AS MANUFACTURED BY ITW BUILDEX, INC.
—KWIK BOLT TZ EXPANSION ANCHORS AS MANUFACTURED BY HILTI, INC.

MINIMUM EDGE DISTANCE AND SPACING FOR ABOVE MENTIONED ANCHORS SHALL BE AS INDICATED BELOW OR
AT ABOVE MENTIONED SHEET. EDGE DISTANCE AND EMBEDMENTS ARE BEYOND ANY FiNISH MATERIAL.

MINIMUM EMBEDMENT

ANCHOR SPACING EDGE DISTANCE POURED CONCRETE CONCRETE BLOCK
~1/4"9 TAPCON 3" 3" 1 3/4" (Min. fc=3192 psi) 1 1/4" (ASTM C-90)
—1/4"g CALK~IN 21/2" 3" 7/8" (Min. f'c=3000 psi) -
-3/8"8 CALK—IN 3 3/4" 41/2" 1 1/4" (Min. fc=3000 psi) -
—1/2"8 CALK—IN 5" 6" 1 1/2" (Min. fc=3000 psi) -
—5/16"8 TAPCON XL 3 3/4" 4" - 1 3/4" (ASTM C-90, GROUT FILED)
~3/8"8 KWIK BOLT TZ 6" 4 3/8" 2" (Min. fc=3000 psi) -
~1/2" KWIK BOLT TZ 9 3/4" 6" 3 1/4" (Min, f'c=3000 psi) -

10. POLYETHYLENE BLOCKS USED AT SPRING LOADED SYSTEM FOR REMOVABLE STORM BARS SHALL COMPLY WITH
THE FOLLOWING SPECIFICATIONS:

AST IGNATIO PROPERTIES YALUE
D256 IMPACT RESISTANCE 7.95 FT—Lb/In (AVERAGE)
D638 TENSILE CAPACITY 4243 psi (AVERAGE)
D790 FLEXURAL CAPACITY 1012 psi (AVERAGE)

11. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE
SHUTTER IS TO BE ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO
CONCRETE, BLOCK OR WOOD FRAME BUILDINGS.

12, THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN

CONTINUOUS CONTACT WITH THE BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER
TRACKS ALL AROUND FULL LENGTH.

13. SHUTTER MANUFACTURER'S LABEL SHALL BE PLACED ON THE EXPOSED SURFACE OF THE SIDE RAIL
APPROXIMATELY 4" ABOVE THE BOTTOM OF SUCH RAIL.
LABEL SHALL READ AS FOLLOWS:
ROLLINGSHIELD, INC,
MIAMI, FL
MIAMI~DADE COUNTY PRODUCT CONTROL APPROVED.

14. ROLL—-UP MECHANISM NOT PART OF THIS APPROVAL, BUT SHALL BE CERTIFIED BY AN INDEPENDENT TESTING
AGENCY.

15. ROLL-UP SHUTTER INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING
AND ZONING REGULATIONS PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.

16. (a) THIS P.AD. PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A SITE
SPECIFIC PROJECT; i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE P.A.D.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE
SAFETY OF THIS PRODUCT, BASED ON THIS P.A.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE

CONDITIONS DETAILED ON THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE CONTRACTOR'S
RESPONSIBILITY.

(c) THIS P.A.D. WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.

PRODUCT REVISED
(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR ARCHITECT WHICH 25 complying with the Fiorida

WILL BECOME THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE
FOR THE PROPER USE OF THE P.A.D.

ENGINEER OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.A.D. ENGINEER, SHALL SUBMIT TO
THIS LATTER THE SITE SPECIFIC DRAWINGS FOR REVIEW. By

Misnd Dade
(e) THIS P.AD. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER pDivigios!
OF RECORD THAT PREPARED IT.

Building Code

Fiorida Building Code (High Velocity Hurricane Zone)

© 2009 TILTECO INC.

/ TLIECO e \

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th, St, Ste. 305, VIRGINIA GARDENS, Fi. 3¥166

j ;—i;;e—") - Phone : (305)871-1530 . Fox : (305)871-15%1
Qé’"%. e e-mail: tilteco@aol.com

[ a0
e

Phone : (305)436-6661 . Fax : (305)436-5523

REV, No DESCRIPTION DATE REV, No DESCRIPTION

DATE

60mm SLAT ROLL-UP SHUTTER | @
ROLLINGSHIELD, INC. /09
(NSAF 1)
2500 N.W, 74th AVE.
MIAMI, L. 33122 09—-041

DRAWING No

) EB--0006718
TN, e
JiNo 1 2\.1 WALTER A. TILUT Jr. PE. ;

OLD 05-218 4/3/09

FLORIDA Lic. # 44167

SHEET 1 OF 16




= h—d
P

&

3

xI

& =
E o
S P 7
0

g

S

a

&

@

Max. SLAT SPAN (SEE SCHEDULE)

1 (Tvp.)

GaN

=
P

?@@@@TL

)
| —0oco—

®

Max, SLAT SPAN (SEE SCHEDULE)

Max. STORM_BAR SPACING (SEE SCHEDULE)

NOTE: SEE SHEET 2, 3, 3A & 9 OF 16 FOR COMPONENTS NOMENCLATURE,

Max. MULLION SPACING,

D w-1
|

bv
/ v
Nl il th i | N / tt
| 11l 1) | 1 |
| i it /Q\D@OR@ | ih 1:/’@@0/?@
@k.'ﬁ I il ! It I
YN i T ; T |
3 i ifi ifl @@0R®§—r {1 i | | il i 4
2 OR { 11 It | i m L H! — o i — QQ
# } ih ! ; ! i I } f il — 3¢
3 ! ih i | ' } ifi ' } 1 — 88
" | i 1|1 ] 1] 5. — i — —>. 1 F— Su
I | i - i Tvp. I & I [SR \SOS §  S—— | — YW
s v | I o | ' il | ' | — 45
i ] I
o0 |iB i f | —! f . | I — %
- | i i | i | o . | b —1 §.
| I i © ® @ * O—*k | —— | 25
~ | I I ¥ ~J
3 | ifi i — BN Y —— | L L i gs'
= | It il i ] ] | A+ 1] I | 3
i i i (Typ.) A4 | — | = " — ifi — 5
§ i ifi i}t . L L ] L L i) Lt &3
3 i i | Q I Q I R i R I f 1yl I SIS
3 : i i =DEOor r=—=——. | | I | —~ == o3
3 | if ii - T 5 i i —r il R =3
\‘ 4\ 3
l——————?—ll I | — k [T k = H
: | — | (. £ £10) | —pes— T— 3
Y [ | I
: f — it ® O — { I 1| ~—I| Aulh
[
{ I H | A r | H T ] T I ‘
N AN \‘\ ﬁ
- v -
P | ow- Max. SLAT SPAN (SEE SCHEDULE) p W-2

Max. SLAT SPAN

MAXIMUM HEADER SPAN (SEE SCHEDULE)
w-3 W-3
P @or(D) st
{ Cont.
VA

Ay VA Y
AV : ]

{ i
S fL—S S s I:,'\
=N PN N N 2
— —= _ g
P ! &
P G—— ,p—s p— :—5 P ] P L
=
| ! ! <
L L Q
| I ©

| [
— : 3
] [: : u::
5 | I S
P17 T 0
Nim— L -
| \/ HA———— S
i / i R~ S
7/ ! g

— L/ I

\ L/ [

A A H

b 1170 Bz
N UAPPLICABLE
1

NOTE: SEE SHEET 2, 3, 3A & 9 OF 16 FOR COMPONENTS NOMENCLATURE.

Max, HEADER SPAN &

Max. MULLION SPACING (SEE SCHEDULE)

w-2

/@@Miﬂ@
/

Max. STORM BAR SPACING (SEE SCHEDULE)

(SEE SCHEDULE)

NOTE: SEE SHEET 2, 3, 3A & 9 OF 16 FOR COMPONENTS NOMENCLATURE,

WARNING:

APPROVAL,

THE EXTRUSIONS, PARTS AND COMPONENTS ILLUSTRATED ON THIS PRODUCT
APPROVAL DRAWING ARE GENUINE ROLLINGSHIELD PRODUCTS. TO PRESERVE THE
INTEGRITY OF DESIGN AND PERFORMANCE STANDARDS, ROLLINGSHIELD EXTRUSIONS,
PARTS AND COMPONENTS CANNOT BE SUBSTITUTED. THE MANUFACTURING OF THESE
SYSTEM USING PARTS AND COMPONENTS OTHER THAN THOSE SPECIFIED HEREIN OR
BY ROLLINGSHIELD IS STRICTLY PROHIBITED AND MAY INVALIDATE THE PRODUCT

Ay
I
E : ) WHEN
N_/APPLICABLE

NOTE: SEE SHEET 2, 3, 3JA & 9 OF 16 FOR COMPONENTS NOMENCLATURE,

@ WHEN
N L arplicABLE

NOTE:

SHEETS 4 THRU

SEE SECTIONS ON

11,

wmerer]

ot e

STO0T X8

Florida Building Code

PRODUCT REVISED
as complying with the Florida
Building Codc
Acceptance No
i ate

Miami Pade Product Conivol

Division

(High Velocity Hurricane Zone)

© 2009 TILTECO INC.

IILIECOmc.

60mm SLAT ROLL—UP SHUTTER | oM ex

Phone : (305)871-1530 . Fax : (305)871-1531
e—mail: titteco@aol.com
EB~0006719
WALTER A. TILLIT Jr. P.E.
FLORIDA Lic. # 44167

TILUT TESTING & ENGINEERING COMPANY
6355 N.W. 36th, St., Ste. 305, VIRGINIA GARDENS, Fl. 33166

ROLLINGSHIELD, INC. 4/3/08
(NSAF 1) DATE
2500 N.W. 74th AVE.
Phone : (Jogﬁyfsoge'. igxl.?z(ms)qs_ﬁu 09—-04 7
REV, No DESCRIPTION DATE | REV. Mo DESCRIPTION DATE DRAWING No
oLD 05-218 4/3/09

SHEET 1A OF 16




2.267"
2.803™

i

Q"

TYPE

@

I _SLAT:

EXTRUDED ALUMINUM SLAT
6063-T6 ALUMINUM ALLOY
SCALE: 1/2" = 1"

140"

— -

250"

1R

22107

[—.045"

|

J4G

Er

TYPE 2 SLAT:
EXTRUDED ALUMINUM

.184"

BOTTOM SLAT

6063~T6 ALUMINUM ALLOY

SCALE: 1/2" = 1”

2.000™

2.000"

.188"
TYP.

-2.000"
3.000™

.125"

TYPE 1 STORM_BAR:

2" EXTRUDED STORM BAR
6063-T6 ALUMINUM ALLOY
SCALE: 172" = 1”

©

YP

TYPE 2 STORM BAR:
3" EXTRUDED STORM BAR

6063-T6 ALUMINUM ALLOY

SCALE: 1/2" = 1"

IYPE 1
SIDE RAIL:

6063—~T6 Alum. ALLOY

. - © 2009 TILTECO INC. DRAWN BY:
SCALE: 1/2" = 1 60mm SLAT ROLL—UP SHUTTER M.CVA.G/LG.
SCALE: 1/2" = 1”
I IL I ECO nc ROLLINGSHIELD, INC. /509
. N.S.A¢$ 1
TILLLTw TJESTING st& ENGINEERING COMPANY 2502 N.W. g4th)AvE,
6355 N.W. 36th, St, Ste. 305, VIRGINIA GARDENS, Fl, 33166
= ) = Phons : (305)57'17—1:330 SFox ¢ (305)8711831 0 Frone : (JOSAjﬁgfwg..i‘g:r,.?z(JHS)ﬂé‘—ssZJ 09-041
e—mail: tilteco@aol.com DRAWING No
£8-0006719 REV, Mo DESCRIPTION oATE | REV. Mo DESCRIPTION DATE
LRI n ALTER A, TILLIT Jr. P.E. OLD 05~ 3/
.L l 01 2&,9 WFE(%RQA Lic. # 44167 ; 2 SHEET 2 OF 16

TYPE 2
SIDE RAILS:

6063~T6 Alum. ALLOY
SCALE: 1/2" = 1"

13
] ﬁ
1.313 : 217"

TYPE 3
SIDE RAIL:

6063—-T6 Alum. ALLOY

TYPE 4
SIDE RAIL:

6063-T6 Alum. ALLOY
SCALE: 1/2" = 1"

2557

2.000" | 2.000" {
‘g S 2.000" 2.000"
| 3/8"-16x4 1/2" S.5. g{ﬁ ;g,”;;j,s’/wz/,vjf- 3.000"
CAP SCREWS W/NUT @ 24" 0.C. STARTING
T o o i
BOTTOM OF STORM B4R, BOTTOM OF STORM BAR.
. — / - 3 M ’/ i | . 125"
§ TE tH H 8 rve
3 T- — S
) N 250" n %
3 9 e ne A
-~ N
| b
f
(G) HEADER TYPE 1:
TYPE 5 STORM BA R: 6063—-T6 ALUMINUM ALLOY
o I F) IYPE 6 STORM BAR: SCALE: 1/2" = 1"
3" EXTRUDED STORM BAR , e 2
6063~T6 ALUMINUM ALLOY 4" HEAVY EXTRUDED STORM BAR
SCALE: 1/2" = 1" 6063-T6 ALUMINUM ALLOY
SCALE: 1/2" = 1"
2.625"
—1.203"——T1.422"——
» '3 2.610" | 2,965 ®
— 454"_2ff.5__7.507" @h «7'”0"_-~=_1'500" 1.465" b 1.500"—= .Q Q‘
. 'R R g S J e L
: 216" ‘ 8 T } | w07 ool | 423
2 ) Lﬁl K T =9 R f 8 ]____L
AT [ S 3647w s 070" ] 360", % }—v § 1 i
g3 | . g -080%= [~ 5 Y8 - 354 3 § _{__I'ﬁ_r
7L : 9 so70n 4 % 11 L > el L
! T _.i Lzzo" g

4.000™

TYPE 3 STORM BAR:

4" EXTRUDED STORM BAR
6063~T6 ALUMINUM ALLOY

SCALE: 1/2" = 1"

4.000"

125"

2.000™

P

HEADER TYPE 2:

606376 ALUMINUM ALLOY
SCALE: 1/2” = 1”

Florida Building Code (High Velocity Hurricane Zone)

.125”
P

41)

.250"
TYP.

4.000™

TYPE 4 STORM BAR:

HEAVY EXTRUDED STORM BAR
6063~T6 ALUMINUM ALLOY
SCALE: 1/2" = 1”

4.000"

2.000"

le—250"
TYP,

HEADER TYPE 3:

6063—-T6 ALUMINUM ALLOY

SCALE: 1/2" = 1”

PRODUCT REVISED

as complying with the Florida
Building Code
Acceptance No ®)

/ g A
Fade Product Control
Division

9-0527/ 0
p '-.A'A.\ ©|4

&




3.000"

4.000"

4.000"

4.000"-

. .250"
e,

4.000"

125"
v

6.000™

TYPE 1 MULLION:

4" EXTRUDED MULLION
6063-T6 ALUMINUM ALLOY
SCALE: 1/2" = 1"

Mp
™
ntzis
pEN
X

v TH'CK
/1 s
e

TYPE 2 MULLION:

4" HEAVY EXTRUDED MULLION
6063~T6 ALUMINUM ALLOY

250" |

TYe.

SCALE: 1/2" = 1"

45° CHAMFER
(OPTIONAL)

@ BOX COMPONENTS AND ASSEMBLY DETAIL

(SEE SHEET 3A OF 16 FOR ALTERNATE ROLL-UP SHUTTER LIFTING MECHANISMS)
(SEE NOTE 13 ON SHEET 1)

TYPE 3 MULLION:

6" EXTRUDED MULLION
6063-T6 ALUMINUM ALLOY
SCALE: 1/2" = 1"

m/@

45' CHAMFER
(OPTIONAL)

——

012D

N
STUB DETAIL. X
(N. T.5)

/
/

DPE 1- 5 38"
nPE 2 6 127
PE 3 7 116"
nPE 4 8"
nPE 5 10"

TYPE 6: 127

N

45° CHAMFER
(OPTIONAL)

/
/

(R) BOX SIDE BRACKET TYPES

TOP PROFILE 3005-H28 ALLOY.
BOTIOM LEADER W/PLUSH.

REAR PROFILE 3005~H28 ALLOY.
BOTIOM PROFILE 3005-H28 ALLOY.
COVER PROFILE 3005-H28 ALLOY.
NYLON DISK: 4 1/4" 0. D.

ROLLING CUSHION W/BALLS.

BOX SIDE BRACKET: CAST ALUMINUM.*
RIBBON: 17/32" WIDE.

SIDE RAIL.

SLAT.

EXTRUDED ALUMINUM DRAWING HOOP.

¥ SHALL BE CAPABLE TO SUSTAIN SLAT'S
WEIGHT AND ASSURE LIFTING MECHANISM
(SEE NOTE 13/1)

GALVANIZED STEEL DRUM: 1 9/16” 0. D. x 0.032" Thik.*
RETAINING METAL PLATE: 26 Ga. Galv. St/ AT EACH END.
NYLON FERRULE: 1 17/32” 0. D. x 0.045" Thk. x

3 5/16" Long.
NYLON FUNNEL.
SCREWS: # 4 x 1/2" 5. S.

PRODUCT REVISED
as complying with the Florida

Building Code

Acceptance No O

Florida Building Code (High Velocity Hurricane Zone)

© 2009 TILTECQ INC.

/TILIEC O me. \

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th, St, Ste. 305, VIRGINIA GARDENS, Fl. 33166
Phone : (305)871—1530 . Fax : (305)871-1531
e—mail: tilteco@aol.com
EB-0006719
WALTER A. TILLIT Jr. P.E.

FLORIDA Lic. # 44167

60mm SLAT ROLL~UP SHUTTER |ucritose
ROLLINGSHIELD, INC. /o105
(N.SAF 1)
2500 N.W. 74th AVE.
MiAM), FL. 33122 09-041
Phone : (305)436~6661 . Fox : (305)436-5523
REV, No DESCRIPTION DATE REV. No DESCRIPTION DATE DRA WING Na
1 OLD 05-218 4/3/09

SHEET 3 OF 16




TYPE DRIVE ROLL—UP SHUTTER SYSTEM MOTORIZED ROLL-UP SHUTTER SYSTEM HAND CRANK ROLL—-UP SHUTTER SYSTEM

ALTERNATE ROLL—UP SHUTTER LIFTING MECHANISMS

PRODUCT REVISED
as complying with (e Florida

Building Code O -8 2 A ()é
| e Juaine 2ok

Florida Building Code (High Velocity Hurricane Zone)
60mm SLAT ROLL—-UP SHUTTER M,CFZ,{*}L”,“Q/BEG

/ I iL I ECO '"“X ROLLINGSHIELD, INC. #/3/09

© 2009 TILTECO INC.

(NSAF 1)
I T & EONGEE TP D90t
N N;%}‘W Phone : (305)871~1530 . Fax : (305)871-1531 X M/AMi' L. 331?2 _ -
‘f:;%“ — emmail: titeco@aol.com Phone : (305)436--6661 . Fax : (305)436-5523

- A EB_O‘I(')IOGI?Q b REV. Mo DESCRIPTION DATE | Rev. Ne DESCRIPTION DATE DRAWING No
WALTER A. TILLIT Jr. P.E. ) OLD 05-218 4/3/09
JUN O 1 Zﬁ@g FLORIDA Lic. # 44167 SHEET 3A OF 16




. | -5 r@@@ o (M) »
APCON POURED CONCRETE OR ‘ = [T
CONCRETE BLOC
ANCHORS REQUIRED ) L. POURED CONCRETE OR
(SEE SCHEDULE ON s £Q £Q TAPCON CONCRETE BLOCK
. TAPCON il ANCHORS REQUIRED \/

THIS SHEET) _ ~
'\ f E. D. ANCHORS N (SEE SCHEDULE ON
r'— (SEE SCHEDULE ON 3

THIS SHEET)
@ THIS SHEET) [' —\_i_‘ £ D.
\ Q H-1,/4% x 3/4" TEK SCREW
V 1/4"8 x 3/4" TEK SCREWS ®s60 C

N

’ | z

! Y] Vs —152] )
EQ-mi=EQ 2 E‘o L - 1%3%1/8" 2"%3"%1/8" _’.zio{'
9 . 2"%2°%1/8" Cont. Alum. ANGLE 1/4% x 3/4" TEK SCREW © 500" 00— /——g OXI\-I’TXIB/UJ;LD?-%U‘;' fo EL"/E b
250" ‘_1_@ POURED 2 7 eeoc \ //,hg
i O or () conceere o ! @
REQUIRED
SECTION P = P (1) : WALL MOUNT > | /
SCALE 12t = 1 SECTION P — P (2) : SIDE WALL MOUNT E-t£0 - W—1 OR W-2
T I SECTION Q - Q : MULLION MOUNT (FACE MOUNT
SIDE RAIL ANCHOR SCHEDULE SCALE: 172" = 1 ] L P ( ?
MAXIMUM_DESIGN PRESSURE RATING "W” (p. s. £.) AND ROIGIOLIO,
f x
CORRESPONDING MAXIMUM ANCHOR SPACING (in) SECTION P = P (3) : BUILD~OUT MOUNT
FOR SIDE RAILS D . ® . D & () e L—® ©
CONNECTION TO POURED CONCRETE OR MASONRY WALL o= (P)
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)
MAXIMUM 7/4 ] X 3/4 TEK SCREW
fatifivy SIDE RAIL (J) SIDE RAIL (K) SIDE RAIL (D) SIDE RAIL M) @ @@
LOAD
W (pst) AL o) glur | PG |waL wount| BSBE | BULDIOUT lwaws wount| NSIPE | BULD-OUT |y younr | INSBE | BuLD=ouT
5 1/2” 3 1/2” 6” 6" 4” 6" 5 1/2” 3 12" 6" 6" 4” 6"
80 OR LESS
6" 6" 6" 6" 6" 6" 6” 6" 6" &” 6" 6" o 0 f o
3" N/A 5" 3" N/A 6" 3" N/A 5" 4” N/A 5 1/2"
>80 70 150 Bl ———
6” 5 1/2" 6" 6" 6" 6" 6" 51/2" 6" 6" 6" 6" 2507 [ 2s0 [
150 70 105 N/A N/A 4 1/2" N/A N/A 5" N/A N/A 4 1/2" 3" N/A 5" D]>W—7 OR W—2
> .
- 5 6" 6" 5 1/2" 5" 6" 57 6" 6 5 1/2” 6" SESC;‘:'LIEOA:/ZR —- R : MULLION MOUNT (FACE MOUNT)
'fyfiin 1/4" x 3/4" TEK SCREW Azlif
CONCRETE BLOCK p— r_.‘ e @ 6" 0. C —\ —
= = —T ®
O® <

POURED CONCRETE
1/4°0 x 3/4" TEK SCREW /@ @ = =
Qe ® [ ==

ALUMINOM ANGLE PRODUCT REVISED

. ) z | @OR
SUBSTRATE LEGEND \ OR @ J EOI— £ EL gfo £Q _JEO Zz”xz“xr/a” Cont, \Q4>

2"%2"%1/8" Cont. Lhha s ‘ e gld as complying with the Florida

Acceptance No -0O52 /., Of

Q ALUMINUM ANGLE =1 Buil dmg Code
Ll 2 Q
* MAXIMUM ANCHOR SPACING (in.) AT SIDE 'ﬂ E N F—w | e 371 wﬁw/ | © z’:’ ¢ ,ZC}r
= ® 6" 0. C. . .
——— Y | i ANk

RAILS VERSUS EDGE DISTANCE = E. D. oR @ M

T p——— e = n SECTION R — R : MULLION MOUNT (INSIDE MOUNT) Division
VALID FOR 3" EDGE DISTANGCE. B el vrias B \@ SCALE: 1/2" = 1" Florida_Building Code (High Velocity Hurricane Zone)

N

SECTION R = R (2) : MULLION MOUNT (FACE MOUNT) © 2008 TLTECO NG 60mm SLAT ROLL—UP SHUTTER | Hm e

SCALE 172" = 1 Titleco . \ ROLLINGSHIELD, IN /o5
/ IL ECOINC. (N.sf:l.[e)’ INC. DATE

TILLIT TESTING & ENGINEERING COMPANY 2500 N.W. 74th AVE.
e - 6355 N.W. 36th, St. Ste. 305, VIRGINIA GARDENS, Fl, 33186 MAMI, FL. 33122
( - . Phone : (305)871-1530 . Fax : (305)871~-1531 oy 09—047
e g it it @aol. Phone : (305)436-~6661 . Fox : (305)436-5523
o e—mait: tiiteco@acl.com DRAWING No

e EB-0006719 REV. No DESCRIPTION 0ATE | REV. Mo DESCRIPTION DATE

JUN 0 1 2%9 WFAIESETD/? L.TclLLI#T 221 E%E' -~ L R 27 SHEET 4 OF 18




1%2%1/8" Cont, Alum. ANGLE W/ " w1 san  FOR INSTALLATIONS INTO CONCRETE, 1.5 " p— .
T e ST i [ S e | gy (R WSMAOR IO SO gy e v oy e
W/ 4" MIN.THICKNESS %’ x 1 %" TAPCONS ANCHORS @ 12" o.C. (2) 1ra'ox3/4” TEK % NGLE EA sipE  EACH SIDE AT CENTER OF ANGLE FOR '
REQUIRED " @ 12" o.C } - SCREW EACH SIDE. um. . ANY SLAT & STORM BAP SPAN & BOLT TZ ANCHOR AT EACH SIDE.
(Fo=3000 p.s.i. MIN.) L | A e DESIGN LOADS UNDER 40psf. | OrR \
- | - FOR DESIGN LOADS BETWEEN 40psf .
/ / ] N | & 100psf, USE SAME CONNECTION W/ R | A s
I~ iy ] O TABLE 5 FOR MAX. SLAT & STORM N a O NS
™ - ‘ o f BAR SPAN LIMITATIONS. i
L'ﬂ_l [x) ]
RS [ POURED CONCRETE ’ S| FOR DESIGN LOADS GREATER THAN 5
Il H——roe——-o f O -
i J e i W/ 4" MIN.THICKNESS i 100psf AND ANY SLAT & STORM BAR ) ;
I m'% .~ AN ! REQURED —— [ g }——O y m O SPAN, USE (1) 3/8" KWIK BOLT TZ R
I , | ’ N\ , (Fe=3000 p.si MIN) 9. | N ANCHOR, EACH SIDE AT CENTER OF
i | | o 1 - - | 2 ANGLE i
i s | O ~, \ ‘ [~ eo. | i _/ \
l b | L/ / ] i YOI VY ' @o.i?@ _(2) 1/4'0 x 3/4" Tex " 1(2) %8 x 374" TEK SCREW
i ; : - / | | ;\_@ g SCREW AT EACH SIDE. ﬁﬁff OF 97 EACH SIOE
/
I ! ! ) | . SECTI = Fi ED STOR s,
-~ | o | ) P -
I i | ——— | g5 | SCALE : 1/2" = 1 SOALE . A =T
I | | | o o—o O i w. 0w  FOR INSTALLATIONS INTO CONCRETE, /
! gy [ p b 1. 1/2%1 1/2°%1/8 USE (1) 1/4%x7/8" CALK—IN ANCHOR *,
" | 1 P\ S, = (2) 1/4"8x3/4" TEK TORM BAR DEPTH :
I+—2.000"—| | ; . SCREW £AcH SioE. %, STORM BAR D EACH SIDE AT CENTER OF ANGLE FOR < |
I (Min.) | i | : N\ N4 /4;_. Alum. ANGLE EA. SIDE /ANy SLAT & STORM BAR SPAN & DESIGN e - MACHINE SCREW
| i | - . LOADS UNDER 40psf. R
l l 1] | iy @ oR @ : FOR DESIGN LOADS BETWEEN 40psf L 4 pueLy EMBEDDED
. g TO AN
H | | 2.000" ' | a | I & 100psf, USE SAME CONNECTION W/ % ‘x%w O ANCHOR
i | : (Min.) : | g 7 | W TABLE 5 FOR MAX. SLAT & STORM BAR s .+ T~ ANCHOR
" i | i @ 0R@ | K SPAN LIMITATIONS. AL
& ! | g [ |
S | I 2 | A\ 9 FOR DESIGN LOADS GREATER THAN 100psf DETAIL A
Z GLASS I f 1LY " 1 s + i I da | AND ANY SLAT & STORM BAR SPAN, USE
= I i et | j : Y O (1) 3/8%x1 1/4" CALK~IN ANCHOR ¥, N.T.S.
3% I | 13 il I | il N AN N EACH SIDE AT CENTER OF ANGLE 5 -
S It i 17 | I EXISTING — | ~ X 1/4” -20 OR 3/8" 8—16 MACHINE SCREWS USED JOINTLY
9 L. Il Rt { J\L GLASS | : . ] AN ” W/ 1/4" ¢ x 7/8" OR 3/8" ¢ x 1 1/4" CALK—IN ANCHORS
S I | 12N i | (2) 1/4%0-20 S.S. M.S. RESPECTIVELY SHALL BE LEFT TOGETHER W/ ANCHORS AT THE
%m H : it { : OR { il W/7/8"0x3/32" WING NUT TIME STORM BARS ARE REMOVED. (SEE DET, A).
- ! I | . IR o TABLE 5
o
R4 I | | | I SEPARATION TO GLASS 1[Ik '  DESIC
&3 I | g L ; A " SEE SCHEDULE ON —4 1 = S (FOR A RM_BA iGN MAX. StaT | L MAX.
Qlu It | (l [ H SHEET 9 OF 14 ! ' SCALE : 7/2 » - 7” "LOAD SPAN STORM BAR
oy I separarion To 6Lass LY [ | : ’ ‘ W (p.s.f) SPAN
e I "seE scHEDULE ON Y [l ] [ | 5" T
g8 “ SHEET 12 OF 16 | | | L —g"
g i | 1] — 1.000",_1.000" 1.000",_1.000" 40.0 ;,‘g” Z,‘fﬂ
& i | | | | f T (BEYOND) ~ POURED CONCRETE W/ il -1
59 I 1 . , ) | [ 4" MIN, THICKNESS 6 -0 5 =9
< J\:F ;E(LJUIRED o;; GROUT 3-0" 8-0"
S ILLED CONCRETE T AT 7 7
3 ®0R @ | BLOCK WALL REQUIRED. X’ 50.0 4-0 6-11
3 I l \ﬁ QT (BEYOND) ! ! or 5-0" 5-6"
= | P PRODUCT REVISED | | ! D6E OF miin a1l = e
| i as complying with the Flo | | WALL " 57"
{ : Building Code T———*—'—r ; . 60.0 70" 55"
2°%4"(MAX. )x1/4" 0'-6" ) 2) Vatn3 /8" 50" =7
I : \@Ex : ALUM. ANGLE EACH SIDE. LS ;E{(@C;Eé 30" 5—g"
80.0 e —
! iy ) I T, N N |5, QT 7 70 =2
| ! 5 i — —
l I i 00,0 3—0 -7
| | ‘ 4'-0" 3'-5"
| | @@ s
| l
! I
[ |
i
|
|
I

POURED CONCRETE |

4
/

/

/

=

R L

WITH 4" MIN.
THICKNESS REQUIRED
(Fe=3000 p.s.i, MIN.)

2°%5 (Max.)x1/4°%0'-6" ALUM. ANGLE

POURED CONCRETE WALL AT EACH SIDE

POURED CONCRETE

W/ 4" MIN.THICKNESS

REQUIRED

(Fe=3000 p.s.i. MIN.)

CEILING & FLOOR MOUNTING SECTION V~V(2) INSTALLATION
W/ FIXED OR REMOVABLE STORM_ BARS W/CONCRETE ANCHORS

FOR DESIGN LOAD UP TO 140psf,
J'-4" Wax. STORM BAR SPAN, OR
USE (2) 3/8° KWK BOLT TZ

)
i
W/ (2) 5/16° TAPCON XL ANCHORS '
TO GROUT FILLED CONCRETE BLOCK DR | !

ANCHORS TO POURED CONCRETE AT

FOR 1/4"¢ TAPCON ANCHORS — 3.000" Min. ?b%,ggf FOR ALL SPAN & LOAD | @

OR 1/4"¢ CALK—IN ANCHORS USE (2) 1/483/4 TEK SCREW !

FOR 3/8"0 CALK—IN ANCHORS 4.500" Min. 70 STORM BARS AT EACH SIDE. ‘ L ro-t-go]
FOR 3/8"¢ KWIK BOLT TZ ANCHORS—| 3.625" Min./ POURED CONCRETE W/~

4" MIN. THICKNESS
REQUIRED OR GROUT
FILLED CONCRETE
BLOCK WALL REQUIRED.

FIXED STOR
SECTION V = V

( SEE SECTION "S" FOR ANCHOR TYPE REQUIREMENT) A

SCALE : 1/4" = 1”

SINGLE SPAN SECTIONS AND DETAILS
ARE SIMILAR TO ABOVE SHOWN WITHOUT
STORM BAR & HEADERS.

N
~
~

~ -

ING SECTI =-V(1

SCALE : 1/4" = 1"

ANCH:

\POURED CONCRETE

ITH 4" MIN.
THICKNESS REQUIRED
(f'c‘:\JOOO p.s.i. MIN.)

N
POURED CONCRETE W/—

4" MIN. THICKNESS
REQUIRED OR GROUT
FILLED CONCRETE

—FOR INSTALLATION

BLOCK WALL REQUIRED.

S

NG

~~._SECTION S1 - S1

SCALE : N. T. S.

©or

11/2"x 1 1/2" x 1/8"
ALUM. ANGLE EACH SIDE AS
\ SHOWN ON_SECTION S-S

2°x4"(MAX.)x1/4" CONT. ALUM. ANGLE,
CONCENTRATION OF (6) 5/16" TAPCON XL
ANCHORS TO GROUT FILLED CONCRETE BLOCK
OR POURED CONCRETE WALL ® 4" O.C. AT
STORM BAR LOCATION AND REST 1/4"ex1 3/4"
TAPCON ® 12" 0.C.
—_——

C

%

J

IOLIO:

© =

T

: 12"
]

—®

OPTIONAL _STORM

JUN 01 2609

’
i: e
e

/
TS24 (MAK )x1 /4
,CONT. ALUM. ANGLE

b 2]
ALTERNATIVELY TO 5/16”2
TAPCON ANCHOR, USE
CONCENTRATION OF (2) 3/8%
KWIK BOLT TZ ANCHORS TO
POURED CONCRETE WALL © 4"
0.C. AT STORM BAR LOCATION
AND REST 1/4%ex1 3/4"
TAPCON ® 12* 0.C.

R .

e A - Mt I

12"

12"

Florida Building Code (High Velocity Hurricane Zone)

E_LE_VAILQN_A&

SCALE : N. T. S.

w/

© 2009 TILTECO INC.

/ TLIECO .. \

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, Fl. 33166
Phone : (305)B71-1530 . Fox : {305)871—1531
e—mail: tilteco@aol.com
EB~-0006719
WALTER A, TILUT Jr. P.E.

FLORIDA Lic. # 44167

60mm SLAT ROLL—UP SHUTTER | ©°Mm e

ROLLINGSHIELD, INC. 4{%"9

(NSA$ 1) £

2500 N.W. 74th AVE.
MIAMI, FL. 33122 09-041
Phone ! (J05)436—5661 . Fox : (305)436-5523
REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING No
. OLb 057218 1 /%8 SHEET 5 OF 16




1°%2°x1/8" Cont. Alum. ANGLE ~ [~FOR INSTALLATION 1 1/2%1 1/2"%1/8% 1.1/2%1 1/2%1/8"%0'~4" ALUMINUM
POURED CONCRETE 1"%2"%1/8" Cont. Alum. ANGLE W/ W/ 4’8 x 1 %" TAPCONS INTO HEADERS USE  stoRM BAR DEPTH FOR INSTALLATIONS INTO CONCRETE, ANGLE W/ (1) 3/8" KWIK BOLT TZ
W/ 4" MIN.THICKNESS %'0 x 1 %" TAPCONS ANCHORS @ ANCHORS ® 12" 0.C. (3) 1/4°0x3/4" TEK i ANGLE EA. SIDE  USE (2) 1/4"2 TAPCON ANCHORS, ——1.5"——t W,/2" Min. EMBEDMENT AT EACH SIDE.
REQUIRED —— 12" o.c. SCREW EACH SIDE. EACH SIDE, EACH ANGLE FOR ANY 750 750"
(F'e=3000 p.s.i. MIN.) 34" 34" SLAT & STORM BAR SPAN & DESIGN | [
’ . LOADS UNDER 80psf. ; :
/ / N | FOR DESIGN LOADS BETWEEN 80Opsf o N
= iy ] & 100psf, USE SAME CONNECTION W/ O
: o TABLE 5A FOR MAX. SLAT & STORM O
|_ﬂ__| RS | | “ O i b O\ BAR SPAN  LIMITATIONS.
l 2
H oy ~TTTS ' POURED CONCRETE g \.FOR DESIGN LOADS GREATER THAN g /@OR @
1 83 7 N : W/ 4° MIN.THICKNESS . O M M O 100psf AND ANY SLAT & STORM BAR
i : y \ , REQUIRED N L SPAN, USE (1) 3/8"8 KWIK BOLT T, .
I S|l i ' \ i (fc=3000 p.s.i. MIN.) = ANCHOR, EACH SIDE AT CENTER N
I | | N | | m ANGLE =
Il s "
i { : ! _7 | { s \E)or @ (3) 1/4"% x 3/4" TEK \_ EDGE OF ngc)ﬁéff/a? ;:45?7-//4510?{
I | | , i SCREW AT EACH SIDE. WALL .
I | j y s SECTI =_S.
! ! ! e r L gd TION S - S STORM SECTION S2 - S2
! | | -7 { - SCALE : N.T.S. SCALE : N.T.S.
I L | 2y [INTO HEADERS, USE
" W _ ” » - T
i 2.000"| i o sr%ﬂ 3 /;/DZE);%BX FOR INSTALLATIONS INTO CONCRETE, S~ | mAcrnE screw
(Min,) | il 5 USE (2) 1/4"8x7/8" CALK-IN ANCHORS *, CFULLY Eu
T , | SCREW EACH SIDE.  plum. ANGLE EA. SIDE /EACH SIDE. EACH ANGLE FOR ANY SLAT & 4 | RULLY EMBEDDED
I | ! —3/4"-3/4"~ STORM BAR SPAN & DESIGN LOADS UNDER g é’NTO ANCHOR
I | I ] . 80psf. \
I i | fﬁ_‘)’ N | FOR DESIGN LOADS BETWEEN B8Opsf AN
I ! I g = & 100psf, USE SAME CONNECTION W/ o . - | T ANCHOR
g 1 { 1 Ok N TABLE 54 FOR MAX. SLAT & STORM BAR =) s
1S /t | 1l 2 O O\ SPAN LIMITATIONS.
s omme | . d DETAIL A
S ouass I | ‘ } g | _FOR DESIGN LOADS GREATER THAN 100psf - i
39 I | l ) O AND ANY SLAT & STORM BAR SPAN, USE SCALE : 1/2" = 1
3= I | i EXISTING N \ (1) 1/2"8x1 1/2" CALK—IN ANCHOR *,
Q% Il [t GLASS ~ EACH SIDE AT CENTER OF ANGLE K 1/4"0~20 OR 1/2"8—13 MACHINE
. I | Il lx@oﬁ @ = SCREWS USED JOINTLY W/ 1/4°0x7/8"
9 Al . OR 1/2%x1 1/2" CALK~IN ANCHORS
O -
£ ! | Tl ! @0 (2) 1/4'0 S.5. THRU BOLTS W/ NUT RESFECTIVELY ‘SHALL BE LEFT TOGETHER
kY i | el { W/ ANCHORS AT THE TIME STORM BARS
e2 I ! 1A | SEPARATION TO GLASS - FOR R, STO, A ARE REMOVED. (SEE DET. A).
= ! — .
53 ! e EeSTHEPUE o SCALE : N.T.S "
§d I separarion 10 cLass Il 3 ) | @@ TABLE 5A
ig e SEE SCHEDULE ON | | f 1.000" _1.000" 1.000", 1.000" Y
3 o i SHEET 12 OF 16 | | POURED CONCRETE W/ DESIGN 1Y MAX,
2 I i | ; ’ ’ L )or 4" MIN. THICKNESS LOAD MAX. SLAT y
o H || i—1 M\ (BEYOND) REQUIRED OR GROUT “w* ( f) SPAN STORM BAR
Sty | | FILLED CONCRETE .s.F.
8 L 1 ' ' or @ BLOCK WALL REQUIRED. 2 Ty S:PAN -
3 (BEYOND) 2.000" / J =0 9'-71
C ’ » H 2
g | PRODUCT REVISED ;s (Min.) k@ oF @ 7 A T 80.0 4-0 8-8"
3 T | ! ;sclodTpi%u;% with the Flogjda Z | EDGE OF | 5'-0 6—11"
i | | uilding Code . o V\@OR @ 30" R
H { : Aceeptance No o —r2 '30)4 2551 /4X0"—6" ‘ L_' 100.0 5 S
i | | % ' ALUM. ANGLE AT NS e s AT 50" 55"
1 | - EACH SIDE DR (4) %oxa — —
I | '\@ By D
f | ‘ ' MiamiDads Product Confftl il b /(477;/PE§CH SIDE ; - ”
I ! -] Division - 0 2°x5"(MAX.)x1,/4" CONT. ALUM. ANGLE, W/
t 1 ; CONCENTRATION OF (8) 5/16”8 TAPCON XL
i ! ~N—— o SECTION S1 - S1 . o ANCHORS 'TO GROUT FILLED CONCRETE BLOCK
i ‘ OR 11/2%1 1/2%1/8" OR POURED CONCRETE WALL @ 4" 0.C. AT
! : wy - = S A7 7 e Us: Yy T T ALUM. ANGLE EACH SIDE AS STORM BAR LOCATION AND REST 1/4"ex1 3/4"
Il-—2000"—| " e - - SCALE : N. T. S. SHOWN_ON_SECTION S—$ TAPCON @ 12° 0.C.
(Min, ) | f | /xQ Ve P ‘
l ! ! ‘u).'"" N N : = I —
i | POURED CONCRETE WITH 4" ¥ f N ol ° I
I | MIN. THICKNESS REQUIRED J \ ’I = T
“ ol (Fo=3000 p.s.i. MIN.) @\\
I Rl - * \ 12" 12" 4" 4 4+ i 4" 4 12"~ 12"
ALTERNATIVELY TO 5/16" TAPCONS, USE B
l-J-LI g% @ 2% (AKX x1/4°x0’~6" ALUM, ANGLE s LTERNATVELY TO 5,160 TAPCONS, US|

1
| CONCENTRATION OF (2) 3/8"¢ KWK
|
;

W (@) 516 OO XL MCHORS g D, BOLT TZ TO POURED CONCRETE WALL @
POURED CONCRETE WALL AT EACH SIDE | roures concrere I 000 4/?55(; 01 /2 rﬂfIToJR% BA;PLC%CIGATQJNI zANg .
y FOR DESIGN LOAD UP T0 140psf, - pouRep cof gx 5 /
{ 3’4" Max. STORM BAR SPAN, OR f | \ THICKNESS REQUIRED //
POURED CONGRETE FOR 148 TAPCON ANCHORS—— 3 Min (2) 3/8° KWK BOLT T2 ANCHORS T\ (readoot aea ) | A g
. OR 1/4"8 CALK—IN ANCHORS 10 POURED CONCRETE AT EACH SIDE \ / \ s SCALE : N. T. S.
%)Z,RE’%N- THICKNESS FOR ANY SPAN & LOAD COMBINATION, N e POLRED CONCRETE Wy - / L st /4" (MIN.)
) ] . N & Lo - B =
(f'e=3000 p.s.i. MIN.) FOR 3/8° KWIK BOLT TZ ANCHORS 3 58 M'Z' g;gﬁ}gz@;/;:;séftmrngscm o . 4" MIN. THICKNESS g CONT. ALUM. ANGLE Florida Building Code (High Velocity Hurricane Z one)
FOR 1/2"8 CALK—IN ANCHORS 6" Min. ' R e oUT ——- © 2009 TILTECO INC
59‘,’;,50 gj,’g,fﬁgg BLOCK WALL REQUIRED. ' 60mm SLAT ROLL-UP SHUTTER DRALV,/Z by
CEIL SECTION V-V, REQUIRED OR GROUT OPTIONAL STORM "y
FILLED CONCRETE = 4/3/09
W, R_REMOVABLE ST TE_ANCHO BLOCK WALL ReouReD BAR_CONNECTION ILIEC O ne. ROLLINGSHIELD, INC. e

N.S.A¥ 1
( SEE SECTION "S” FOR ANCHOR TYPE REQUIREMENT) WALL MQQNZMQ SECTION V=V(1) INSTALLATION TILLIT TESTING & ENGINEERING COMPANY 2505 N, ;,h)AVE.

6355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, Fi, 33166 VAL L. 33152 _
SCALE : N.T.S. Phone : (305)871-1530 . Fax : (305)871—1831 Phona + (308630 a087 . e 23084365323 09—-047

e—mail: tilteco@aol.com
SCALE : N.T.S. e S-Sy “..éj““\\ EB-0006719 REV. No DESCRIPTION DATE | REV. Mo DESCRIPTION DATE DRAWING No
WALTER A. TILLIT Jr. P.E. 1 oLD 05-218 4/3/09

i B
PN )1 90N FLORIDA Lic. §# 44167 - SHEET 54 OF 15

SINGLE SPAN SECTIONS ANDWZE%QL_/_S"O .
SToRM B4k & HEAGERS. v SECTION V -

4




POURED CONCRETE 1"%2"%1/8” Cont. Alum. ANGLE W/ ’W;Z 1"%5 ont. /A;’“';P/C‘gﬁéf PR IS TALLATION FOR INSTALLATIONS INTO CONCRETE, 1 1/2%1 1/2%1/8%0—4"
. %" x 1 %" TAPCONS ANCHORS @ ;. ” ” v o v e g USE (2) 1/4'8 TAPCON ANCHORS, EACH ALUMINUM ANGLE W/ (1) 3/8"8
W/ 4" MIN.THICKNESS . g x 1% ANCHORS © 12" 0.C. (3) 1/4°0x3/4" TEK 2" x 2" x 1/8" x 0'—d SIDE.  E4CH ANGLE FOR ANY SLAT & (LML ANGLE ,_6 R(S AT/
REQUIRED - 1 L A e = \SCREW EACH SIDE. Alum. ANGLE__EACH SIDE STORM BAR SPAN & DESIGN LOADS
(Fc=3000 p.s.i. MIN.) T . . w 5sqn | EACH SIDE, LIMITED TO 195psf
. v | —3/4"-3/4" N UNDER 50psf. V4 34 g
I il DESIGN LOAD_AND 7'-2" Max.
/ il / s | FOR DESIGN LOADS BETWEEN 50psf STORM BAR () SPAN
{1 - ! X & 100psf, USE SAME CONNECTION W/
il S : gt TABLE 5B FOR MAX. SLAT & STORM BAR J NS
— = 7 \ o SPAN' LIMITATIONS. - N
) |_ﬂ__| 2y I " | l \ S Pn O
I oo ' | ' O O\ FOR DESIGN LOADS GREATER THAN 100psf ~
il _—— ‘ ' |8 [AND ANY SLAT & STORM BAR D) SPAN, f
ey -7 RN | POURED CONCRETE | ' O O p
i S S | W) 4% MIN.THICKNESS /7 ) I EXCEPT STORM BAR €) 7'~8" Max. SPAN,
I 3 T g y \ | REQUIRED 3" Min._| / I X N USE (1) 3/8"2 KWK BOLT TZ ANCHOR, "
” il 17 ? \ i 00 pai M) r ED. 7 3 EACH SIDE AT CENTER OF ANGLE  / ;
. - »,
I | | L) ) | s / - i 3 (2) 3/8" SS. | | -
I | | - Y | i ) o THRU BOLTS W/ NUT \_ @\ 2) 3/6% 5.5
I | |7 4AN v | T4 N SECTION S — S (FOR FIXED STORM BAR) EDGE OF OR THRU BOLTS
| A - I Iy — .
I | | S | — 2 } \@ FOR INSTALLATION SCALE : N.T.S. FOR INSTALLATIONS INTO CONCRETE, SECTION S2 —~ S2
Il I i | ~-0—0 o b ” » " Vo USE (2) 1/4"0x7/8" CALK—~IN ANCHOR *,
I | | | 2y | (9) 1ra7xds4” TEK 2" x 27 x 1/8" x 04 EACH SIDE, EACH ANGLE FOR ANY SLAT & SCALE : N.T.S.
2000"—]! JP e e - : , SCREW EACH SIDE.  _Alum. ANGLE FACH SIDE STORM BAR SPAN & DESIGN LOADS UNDER ;
| (Min.) , i A | ! @ N3/ -3/4 - 50psf. < >
! ! jie | | TTs | FOR DESIGN LOADS BETWEEN 50psf 4
I i il | ' oR @  X& & 100psf, USE SAME CONNECTION W/ o
t [ [ 4 2.000" | ! > % TABLE 58 FOR MAX. SLAT & STORM BAR
! ! | = ] (Min.) | - P SPAN LIMITATIONS. /
fleeld @00 | - -.
Lﬁg /'I | i o H R | { O O\ | _FOR DESIGN LOADS GREATER THAN 100psf 4, \f
| @ @ . AND ANY SLAT & STORM BAR Q) SPAN, '
z e ) ! ! | & 542 | \'—‘ OR Sy %———O o % O EXCEPT STORM BAR €) 5107 Max. SPAN, MACHINE SCREW’ \:
S I ! 1Y | s | l N | USE (1) 1/2"x1 1/2" CALK—IN ANCHOR %, FULLY EMBEDDED DETAIL A AncHOR
3% ! ] Iff ¥ | EXISTING | ”‘f EACH SIDE AT CENTER OF ANGLE INTO ANCHOR Sl E + N.T.G.
Sa i | il I GLASS | o3 @ (2) 3/8" ¢ 5.5
2 i | I, { | OR THRU BOLTS W/ NUT *1/4"0-20 OR 1/2"0—13 MACHINE SCREWS USED JOINTLY
~ ” R . ,/ Pl » »
0 | 11N I | _ 1/4%x7/8" OR 1/28x1 1/2" CALK—IN ANCHORS
ER ! | ~\||- k N { \—@ S - TORM RESPECTIVELY SHALL BE LEFT TOGETHER W/ ANCHORS
gy I i 114 — | SCALE : N.T.S. AT THE TIME STORM BARS ARE REMOVED, (SEE DET. A).
g} Il | 1l i @ OR @ SEPARATION TO GLASS POURED CONCRETE W/ 4" MIN.
=X It | i | le " 'SEF SCHEDULE , , THICKNESS REQUIRED OR T S5W
% S il | | | ON SHEET 12 OF 16 GROUT FILLED CONCRETE
F sy osss I | =) A N Yo | wesur [ oo N oD | e st | i
a (a1l | OR ’ y
S | ow sHeET 12 oF 16 1} {1 | : /\/ TBEYOND) W (p.s.f.) SPAN SPAN "W" (p.s.f.) SPAN SPAN
E: H : | ’ | : @ @ \ﬁ 3._0,. 13,_41' 3,_0" 13;_4:: I
S uf | i | 4-0" 10'~5" 4-0" 12'-5"
(’7,@_ 1l L L 50.0 5-0" 8—4" 50.0 5-0" 11-17 I
3 >@OR @ (2;.490;) 7" OR @ | ] vk S ATk T3
3 in. — —— vl T
3 30 11-7 3'-0 12°'-9
X m T ¢ T | @E(&%{JCT REVISED "B x 1 4& — T 1 —=7
= i : AL : as complying with the Florida 2 o ;Luﬁ. L wact & 600 e g2 600 — =
i: | | | Bulldmg Code ' O‘ ANGLE EA. SIDE IN d.t 5‘—0" 6' 711 5’-—0" 9 _’3 .
i I i ! Acceptance No 2 Ar NS 0.0 j'—g” 8'-8" 0.0 3'-0 11’6
| | \ { P , A 6: 6 " ] 4 :_0 £l 3 '-8'"
! | | J:\} Expiratiop D a0 o \® L =57 =" T
1 | ‘\ar i : \zL Mi (4) 1/4"2 S.S. 100.0 4'-0 5’ 2" 100.0 4’-0 611"
H : I I DlVlSIOn THRU BOLTS 51_0:: 4: 2:1 5: 0» 5:_61:
il } : | \ l ] SEQL!QM S{ — EZ 2°%x5"(MAX.)x1/4" CONT. ALUM. ANGLE, W/
I , : OR CONCENTRATION OF (8) 5/16"8 TAPCON XL
N2 000", | SCALE : N.T.S. ANCHORS TO GROUT FILLED CONCRETE
I n) |, il BLOCK OR POURED CONCRETE WALL
I ' s POURED CONCRETE 1 1/2%1 1/2%1/8" ® 4" 0.C. AT STORM BAR LOCATION AND
I | 1l i W/ 4" MIN.THICKNESS ALUM, ANGLE EACH SIDE AS REST 1/4"8x1 3/4" TAPCON @ 12" 0.C.
Il | 1t S REQUIRED SHOWN ON SECTION S-S FOR ANY DESIGN LOAD AND 5'-8" Max.
" J (fc=3000 p.s.i. MIN.) | STORM BAR F1 SPAN LIMITATION
S 205" (WAX,)x 1/4°50"~6” ALUM. ANGLE T : 7 § '
f W/ (2) 5/16° TAPCON XL ANCHORS TO - ]
[_L\1 gy GROUT FILLED CONCRETE BLOCK OR —1 I T =59 © © ? ° ' ? @<T 7
POURED CONCRETE WALL AT EACH SIDE
FOR ANY CONDITION UNDER 50 psf FOR % 12 12° - o o v o L I
DESIGN LOADS BETWEEN 50 & 10D psf S 4 “ 4 4 * 4 127
USE CONDITIONS SHOWN ON TABLESW, < ALTERNATIVELY TO 5/16"2 TAPCON XL
OR USE (2) 3/8°0 KWK BOLT TZ l ANCHOR, USE CONCENTRATION OF
POURED CONCRETE “i ANCHORS T0 POURED CONCRETE AT LY POURED CoNORETE / (2) 3/8" KWIK BOLT TZ ANCHORS TO VATIO
W/ 4" MIN.THICKNESS FOR 1/4 @ TAPCON ANCHORS 1 3" Min. EACH SIDE FOR ANY SPAN & LOAD ; \ THICKNESS REQUIRED « 7 @ POURED CONCRETE WALL @ 4" 0.C. AT SCALE : N. T. S.
,(;EOU,RED OR 1/4%0 CALK=IN ANCHORS com;/v;n?/. | ] \(Fe=3000 psi. M) 7 / STORM BA; LOCATION AND REST
f'e=3000 p.s.i. MIN.) FOR 3/8°¢ KWIK BOLT TZ ANCHORS— 3 5/8" Min. Vi USE (4) 1/4°8 S.S. THRU BOLTS 2" x 5" x 1/4" x 1/4"x1 3/4" TAPCON @ 12" 0.C.
FOR 1/2'8 CALK—IN ANCHORS— " i 7O STORM BARS AT EACH SIDE. T } // N CONT. ALUM. ANGLE Florida Building Code (High Velocity Hurricane Zone)
hat et -] Ny ~
N POURED CONCRETE W, © 2009 TILTECO INC. DRAWN BY:
POURED CONCRETE W/ j_;zj e TN, THORNESS 60mm SLAT ROLL—-UP SHUTTER LG
CEILING & FLOOR MOUNTING SECTION V-V(2) INSTALLATION REQUIRED OR GROUT R e oUT
W/ FIXED OR REMOVABLE S S HORS e e IRED. BLOCK WALL REQUIRED. IL E C o INe ROLLINGSHIELD, INC. 4/0 i/r ‘Z_g
( SEE SECTION "S* FOR ANCHOR TYPE REQUIREMENT) 1 T - (N.S.A# 1)
SCALE + NT.S TILLIT TESTING & ENGINEERING COMPANY 2500 NW. 74th AVE.
£l 6355 N.W. 36th. St., Ste. 305, VIRGINIA GARDENS, FI, 33166 MIAMI, FL. 33122 09__047
£l . SCALE : N.T.S. Phone : (305)87'1I-1t5'|3t0 : g‘ ’I(MS)B”—'“’ Phone : (305)436-6661 . Fax : (305)436-5523
SINGLE SPAN SECTIONS AND DETAILS SCALE : N.T.S. g_g—iﬁ\ gmat: titeco Baol.com DRAWING No
-0006719 REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE
ARE SIMILAR TO ABOVE SHOWN WITHOUT SECTION V = V S WALTER A. TILLIT Jr. P.E 7 o 05218 | /308
STORM BAR & HEADERS. et Ll - :’I 0 ;[L__zvgg.—ww FLORIDA Lic. § 44167 . SHEET 58 OF 16




PLASTIC . . . .
BUSHING * 1" x 2" x 1/8" Cont. Alum. ANGLE § // 1" x 2" x 1/8" Cont. Alum. ANGLE

|
|
|
| N
|
|
|

ELEVATION m

SCALE : 1/8" = 1"

%

v

POURED CONCRETE ] W/ 1/4"0 x 1 3/4" TAPCON ANCHORS ® 12" 0. C. W/ 1/4% x 1 3/4" TAPCON ANCHORS @ 12" 0. C.
REQUIRED 1.000
’/
/ e S
y |- sPRNG-L00ED
| - POURED CONCRETE —(O—11 SYSTEM *
L'H'J i REQUIRED == —
Il " ? —
Il o X ST
I 23 e N PLASTIC _%” OR@
l ) / N BUSHING * SPRING—LOADED
I ToP l/ \\ @ SYSTEM *
|ISPRING—LOADED o
{ \ | ==
I SYSTEM ~_/ ) S S \__@ @ OR@ SECTION S s
I / - :
il s . - .
| Sl C ] SECTION S = S : DOUBLE STORM_BAR
i M P
I y ! ‘ SINGLE STORM BAR SCALE : 172" = 1
”‘—(ZM‘?"‘;"‘“’ f . f SCALE : 1/2" = 1"
in
: I 0 .
t Ee— ___J 11SPRING—LOADED ) @ @
I e T n
I SYSTEM L T 2
I L] m m | \@ @ OR @ I " 23
I o poem=——"c \———2.000"—~] N3 USE CONCENTRATION OF OR
i si , xT i (Min) R OR (SEE SCHEDULE FOR QUANTITY) r_J\”_“
& I | i 2 I 5/16"2 TAPCON XL ANCHOR TO GROUT | i
5 misive—1 it ; s sy ® I @ @ FILLED CONCRETE BLOCK OR POURED e
GLASS I I | R 1l CONCRETE WALL ® 4" O.C. AT STORM T S
§ I | |  SPRING—LOADaD £X1STING ——=1] e —— BARS LOCATION. | @ or @
3 ! ‘ ! SYSTEM oLass I @ OR @ USE CONCENTRATION OF o
23 H { : I (SEE SCHEDULE FOR QUANTITY) : 1} :x AS APPLICABLE
9~ l I i l 3/8"0 KWIK BOLT 7Z ANCHOR TO I
St i | | — % @ ! HEH POURED CONCRETE WALL VNN B
‘ﬂl§ il | I I = \@ @ 4" 0.C. AT STORM BARS LOCATION ol oml 2" x 5" x 1/8" Max. Cont. Alum. ANGLE
R i ' ' f AN\ = (AS APPLICABLE) 5 usge|
il | i = P »
83 ‘ I sl Si BOTTOM 8 e 1/4"¢ TAPCON ANCHORS @ 12* 0.C.
h‘: H : : ' £| SPRING—LOADED | * : (TYP. AT EACH SIDE, BEYOND CONCENTRATION)
33 f o or (FD) | 1 i SYSTEM = |
G g Il sePaRATION TO GLASS | [ : | AN 0 | o 1 ° 9 o <;o
x g SEE SCHEDULE ON —H | SEPARATION TO GLASS I s T
§9 I SHEET 12 OF 16 SEE_SCHEDULE ON + )
s n HIRH I SHEET 12 OF 16 12.000" 12.000" 4.000"~—~4.000"~—=4.000"—\—4.000"~—~4.000 "~~~ 2.000"-~— 12.000
24 i 1t | /\/ P L OR
E\— I NN \/\
; |
=
s
3
3

T

I

|

|
1
i
{

— ik
ANCHOR & ANGLE SCHEDULE FOR ELEVATION &

8
o
2
&
MAXIMUM STORM BAR SPAN FOR THIS INSTALLATION TYPE
(SEE SCHEDULE ON SHEET 14A)

©
3
P
&

]
|
|
|
|
T
|
|
|
|
|
If !
|
|
|
|
1
|
|
i
|
[

| .®
| |
' 1 |
Min. i
f o i | @ f ! :\@ DESIGN LoD (psf) | ANCHOR T & ANGLE THICKNESS SUBSTRATE
I [ [ I S X
! 1a , @ 1 AN , M (5) 5/16" ) CONCRETE BLOCK OR
f ! f ! i or t N\ H— 75.0 OR LESS TAPCON XL /8 POURED CONCRETE
i S st %W S H sorrom |2 M i\@ @ ra—
I somow |l |Im_m \@ @ || SPRING—LOADED i it 75.0 OR Less w | (B I8 K /8" POURED CONCRETE
SPRING-LOADED—~ I m— ) 0l @ OR@
T — R = Il PLASTIC 14 N W/ 4'—0" Mox. SLAT SPAN & 8'~0" MAX. STORM BAR SPAN
I OR [l ‘ (BEYOND) ¥% W/ 4'-0" Max. SLAT S ~0" MAX. STORM BA
i (BEYOND) 7 s0TTOM ¥¥*k W/ 4'-0" Max. SLAT SPAN & 8'-0" MAX. STORM BAR SPAN e
i - - | —SPRING—LOADED PRODUC_I‘REV;S}:D‘ _
T @ s i SYSTEM as complying with the Florida
L] /.ﬁ“:@( 7 Building Code
AL i Eh i’csﬁ “ Acceptance No O ‘.
S Swenyirats
/ / S‘: §§ _ Expiration Digte (@)
Mg E a5
] \ Mg
/ 4.500" Min. L . et
PLASTIC POURED CONCRETE WITH 2" X 5" (Max.) X 1/8" THICKNESS tvision
52355?"5 CONCRETE BUSHING * 4" MIN. THICKNESS Cont. ALUMINUM ANGLE Florida Building Code (High Velocity Hurri Zone)
D REQUIRED OR GROUT (SEE SCHEDULE ON THIS SHEET.) oriaa unaing ode 1Q e/ocity urricane one

VF/Z-Z-LE DRggagggT £ BLock © 2009 TILTECO INC.

DRAWN BY:
MOUNTING Si V=V Vel(1) INSTALLATIO 60mm SLAT ROLL—-UFP SHUTTER LG,
W/ REMOVABLE ST = L W, A S_W/SPRING—LOADED SYSTEM * / |||_ | ECO inc \ ROLLINGSHIELD, INC. 08
SCALE : 1/4" = 1" SCALE : 1/4" = 1 : (N.SAF 1)
6355 M. 3ot S St 305, VG GURDERS, £ 39166 2500 N#. 74th AVE.
LW. 36th. St., Ste. 305, A , Fl. —
* SEE SHEET 9 OF 16 FOR SPECS. PR e e i SooS71 1831 Phons + (308y4sha881 . Fon <S03 4365523 09-041
SECTIONS V = V | "« oemais. ~ I Hitecoaat e e T T —  DRAWING No
MELORIDA Lie. § 44167 . R SHEET 6 OF 16




OIGEG
2" x 3" (Max.) x 1/8" Cont. Alum. TUBE 1"%2"%1/8" Cont. Alum. ANGLE W/ 2" x 4"(Min.) x 1/8" Cont. 1%2°x1/8" Cont. Alum. ANGLE W/ Tvp. Typ.

@ OR

BUILD-0UT TUBE

W/ 1/4%x1 3/4" TAPCON ANCHORS @ 12 Y%'ox¥s” TEK SCREW @ 67 0.C. Alum. TUBE W/ 1/4%x1 3/4" \ ,1’4"’*’/4" TEK SCREW @ 6" O.C.
\ TAPCON ANCHORS @ 12" O.C. _ A | ——FOR INSTALLATIONS AT TUBE &
—— e . — NS HEADERS USE (2) %8 x 3/4" TEK
- —| ~ —1 o () f e} O/ SCREW EA. SIDE FOR €)& (D) STORM
- i ‘ - 3 ' 2 PS BARS & (3) %8 x 3/4" TEK
L P N L L 4 4 N R - o) SCREW €A SIDE FOR ® & () STORM
' S ] Sy Q AN Al Ll 3_@
) : ) w7
& . POURED ‘ © © O 5 POURED ’ © R
Sq  CONCRETE L g . .
LW REQUIRED ! / ‘ Su ST ) | \_ USE (2) " x_3/4" TEK SCREW
n ! 8 [ | 1 1/2%1 1/2%1/8" EA. SIDE FOR (©) &(D) STORM
" s3 X1 172178 % BARS & (3) %" x 3/4" TEK
s3 ksJ AN - | s 1 STORM BAR DEPTH Alum. 49 x
7 4 | | i — / I ] ¥ ANGLE EACH SIDE g‘f‘gg‘; g:-RSS’DE FOR® & )
| o | _ ] SECTION S3 = S3
| l ‘ l ‘ L ‘ SCALE : 1/2" = 1"
‘ 34t 3/4"
Typ. Typ.
1 ] l £44 ‘ \_@@OR@ . #a_‘ 1 1/2%1 1/2%1/8%
ST @ OR @ ' Y g / STORM BAR’ DEPTH Alum.
‘ ' g8 ‘ NS o~ A — A - e, O ANGLE EACH SIDE
| o > e R el
gk L &
2.000" Min. ‘ ‘ 2.00D" Min—; ; N b O
‘ s3] i 53 g 11 R B __’:;_,\
| N | R o R OLe
gl - N
BT . =—Gl6, (i
GLASS 3) V' x 3/4" TEK ”
EXISTING—— ’ l ‘ (3) % (2) 3/80 S.S. THRU
GLASS } l OR@ SCREW EA. SIDE BOLTS W/ NUT
6 |
N | . s SECTION S3 - S3
SEE SHEET 12 OF 16 1 o= g
FOR Min. SEPARATION ﬁ\@ SEE SHEET 12 OF 16 SCALE : 1/2" = 1
TO GIASS. - FOR Min. SEPARATION @ @ @ OR
TO GLASS. FJ\,_’
’ l ‘ N | USE CONCENTRATION OF
@ (SEE SCHEDULE FOR QUANTITY) @ WHEN APPLICABLE
‘ ] | | | e 5/16" TAPCON XL ANCHOR T0 ! l “
GROUT FILLED CONCRETE BLOCK OR 11/2"x 1 1/2" x 1/8" x STORM
POURED CONCRETE WALL @ 4" O.C. BAR DEPTH Alum. ANGLE
AT STORM BARS LOCATION OR USE
. (BEYOND) J\ . (BEYOND) CONCENTRATION OF (2) 3/8% KWIK ‘ H (SEE SECTION S3 - S5
} §// 1 BOLT 72 ANCHOR TO POURED AS APPLICABLE)
CONCRETE WALL @ 4" O.C. AT l S ”
2" x 7" Max. x 1/4" Cont.
‘ | ’ STORM BARS LOCATION 4\ ALUMINUM ANGLE (CASE 1)
| 1= \
- T | 7 = | ‘
2.000" Min. 1 N Tﬁo L o =] o L o o 0#_ A #
= |
1 I M o Y

(BEYOND)

T - -]
\ ~—J Q 2.000" Min.— |
T |
| |
h B

|

| | 127 12" LY G DL S Sy LN SUIL I DL L S S 12"~ 2.000"
s aiflls | s ! ‘ ! ' OR @ 2%6%1,/4" Cont. 1/48 TAPCON ANCHORS @ 12" 0.C
[ ] ] \ ! ALUMINUM TUBE LEVATION (TYP. AT EACH SIDE, BEYOND CONCENTRATION)
. | = E s3I\ =2 s @ (CASE 1l ONLY) SOALE : 18" = 1" - :
! - o g : — ok
/ § o © oo s <N ’ o © © o s
o Q% 'Qa | 8% ANCHORS & STORM BARS SCHEDULE FOR ELEVATION &
QU e | 9 8 e oo .
S L cmon o 3 o oo o = oo
¢ i ¥ J —E—% £ = . ANCZ8§N7T'IYT¢E & STORM BAR TYPE
J——{—%% LY LLd SR PRODUCTREVISED
: . »mplying with the klon
- - . 6) 5/16" ¢ TAPCON XL @@ as eomp
i @ 2°7"(MAX.)x1,/4" CONT. o 2" x 3" (Min.) x 1/4" Cont. (@) 5/ Building Code
ALUMINUM “ANGLE ALUMINUM ANGLE W,/ CONCENTRATION crentance No /.0
W/ CONCENTRATION OF OF (5) 1/4° x 1 1/2" TEK SCREW (8) 5/16” & TAPCON XL ®.F o ol
ANCHORS SPECIFIED @ 1 1/3" 0. C. AT STORM BAR
POURED CONCRETE WITH 4 | ON SCHEDULE. LOCATION, REST @ 12" 0. C.
MIN. THICKNESS REQUIRED OR o ot op_ | (8) 5/16" ¢ TAPCON XL .@* By . )
; e » s ade Product Contro
G i o A et v o0 o
: BLOCK WALL REQUIRED. ALUMINUM TUBE W/ # LIMITED TO 195psf, 3'~1" SPACING & 7'-0" MAX. SPAN SToRM BAR Y™™
CONCENTRATION OF ANCHORS
CASE | SPECIFIED ON SCHEDULE.
—_— CASE |/ Florida Building Cade (High Velocity Hurricane Zone)

FIXED STORM BAR CONNECTION AT BUILD-—OUT ¢ 200 e e 60mm SLAT ROLL—UP SHUTTER | “/¢®"

INSTALLATIONS W/SHEET METAL SCREWS OR MACHINE SCREWS / TiLIEco .. \ ROLLINGSHIELD, INC. oo

. .o g T
SCALE : 1/4° = 1 Tt e (NSAF 1) bate
TEST & ENGINEERING COMPANY 2500 N.W. 74th AVE.
NOTE: -— €355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, FI. 33166 s :
SINGLE SPAN SECTIONS AND DETAILS MN 4 V( é) e Phone ¢ (305Y871-1530 . Fox : (305)871-1531 MiAMI, FL. 33122 09-041

e—mail: tilteco@aol.com Phone : (305)436-6661 . Fox : (305)436-5523
EB-0006719 REV. No DESCRIPTION DATE | REV. No DESCRIPTION DATE

ARE SIMILAR TO ABOVE SHOWN WITHOUT
STORM BAR & HEADERS.

DRAWING No

WALTER A, TILLIT Jr. P.E. [} oLD 05-218 4/3/08
FLORIDA Lic. # 44167 2 SHEET 7 OF 16




1" x 2" x 1/8" Cont. Alum. ANGLE W/
1/4"0 x 3/4" TEK SCREW @ 12" 0. C.

2" x 3" (Max.) x 1/8" Cont. Alum. TUBE
W/ 1/4"ox1 3/4" TAPCON ANCHORS @ 12?\

T0 TUBE

2" x 4"(Min.) x 1/8" Cont.
Alum. TUBE W/ 1/4"8x1 3/.

N e
V'§ ! :' \
E=L /
£ & ™ $
| ==
S ‘ = / POURED S
POURED CONCRETE S . CONCRETE 3]
REQUIRED = 3 AN o REQUIRED -
S S S S S i 4 uf —

/ )

e

| S
Rl !
} | { | FJKSPRING—LOAE%‘D,
{ SYSTEM
| —

EXISTING }
GLASS

! SEE SHEET 12 OF 16
FOR Min. SEPARATION

H TO GLASS. |_ _I

i
S T O

(BEYOND)

|
'
|

|

|

i
‘hZ.OOD Min. l
|

|

|

|
(L
|

T

|
| e ee
H—zoao" Min. } ‘ ( —1 ‘
“ BUILD~0UT TUBE—L l I D
(5EYOND) {
H ‘33 ’ 53 ‘ | ISJ HSJ\@
MM i) (BEYOND)
=
8 | 5 &)
‘§) | T Lid LI ‘D‘
i —

2'x7"(MAX.)x1/4" CONT. ALUMINUM ANGLE
W/ Y%"e TAPCON ANCHORS @ 12" 0.C.
W/ USE (5) 5/16%0 TAPCON XL
ANCHORS TO GROUT FILLED CONCRETE
BLOCK OR POURED CONCRETE WALL @
4" 0.C. AT STORM BARS LOCATION.

USE (2) 3/8'¢ KWIK BOLT TZ ANCHORS
TO POURED CONCRETE WALL

@ 4" 0.C. AT STORM BARS LOCATION

POURED CONCRETE WITH 4"
MIN. THICKNESS REQUIRED OR
GROUT FILLED CONCRETE

BLOCK WALL REQUIRED.
CASE |

0

TAPCON ANCHORS @ 12" O.C.

1” x 2" x 1/8" Cont. Alum. ANGLE W/

1/4'0 x 3/4" TEK SCREW @ 12" 0. C. TO TUBE

3/4

5F

I

i

ITT’
@ or @ H
| y
”—2.000 i,

EXISTING ”
GLASS

H

‘ SEE SHEET 12
FOR Min. SEPARATION

1t
T

|
|
|
|
|
|
[
|
|
|

J

OF 16

TO GLASS.

|

453

BUILD-0UT TUBE:

‘ (BEYOND)

“——2. 000" Min.

i

Z

4.500" Aﬁj:

=

POURED CONCRETE WITH 4"
MIN. THICKNESS REQUIRED OR
GROUT FILLED CONCRETE
BLOCK WALL REQUIRED.

REMOVABLE STORM _BAR CONNECTION AT BUILD-OUT

INSTALLATIONS W/SPRING—LOADED SYSTEM *

SCALE : 1/4" = 1*

SECTION V - V(3)

* SEE SHEET 9 OF 16 FOR SPECS.
& DETAILS.

CASE |

| , %é
i_i_i i T T i T .
@ sl

3

_XSPRING—-LOADED

T —®
1\‘!\@

TOP
SYSTEM

(BEYOND)

2" x 3" (Min.) x 1/4" Cont.
ALUMINUM ANGLE W/ CONCENTRATION
OF (4) 1/4'8 x 1°1/2" TEK SCREW

—0
OO0

— 1

==

SPRING-LOADED
SYSTEM *

ERGIC,

SINGLE

STORM _BAR

SCALE

| EaGlGIG
—@

12" =

7"

USE (5) 5/16"2 TAPCON XL
ANCHORS TO GROUT FILLED
CONCRETE BLOCK OR POURED
CONCRETE WALL ® 4" 0.C, AT ‘ ‘ )

STORM BARS LOCATION.

USE (2) 3/8" KWIK BOLT TZ

®x®

SECTION S3 — 53 :

SPRING—LOADED

SYSTEM 'X

SECTION S3 -

S3

DOUBLE STORM BAR

SCALE : 1/2" =

©@e®
©) or )

AS APPLICABLE

\

ANCHORS TO POURED CONCRETE t “

WALL ® 4" 0.C. AT STORM BARS
LOCATION (AS APPLICABLE)

7"

'T' ! 1/4"¢ TAPCON ANCHORS @ 12" 0.C.
! (TYP. AT EACH SIDE, BEYOND CONCENTRATION)

"0 =@

\/.o v 3 -3

| |

Jul

7 L

- —®©0®6
BOTTOM

|-~ SPRING~LOADED

| %% SYSTEM

® 1 1/2” 0. C. AT STORM BAR
LOCATION, REST @ 12" 0. C.

2"x6" MAX.x1/4” CONT. ALUMINUM TUBE

W/ 1/4°0 TAPCON ANCHORS ® 12" O.C.

W/ USE (5) 5/16% TAPCON XL
ANCHORS TO GROUT FILLED CONCRETE
BLOCK OR POURED CONCRETE WALL @
4" 0.C. AT STORM BARS LOCATION.

USE (2) 3/8"@ KWIK BOLT ANCHORS TO
POURED CONCRETE WALL

® 4" 0.C. AT STORM BARS LOCATION

2" x 7" Max, x 1/4” Cont.
I ALUMINUM ANGLE (CASE [) 'T
//‘L/@C@' ° %L o T—o
| 2" x 6" x 1/4" Cont.
OR ALUMINUM TUBE —j
(BEYOND) (CASE H ONLY)
} 12.000" 12.000"

4.000“—1—4.000“«]»4.000"
ELEVATION/ C \

4.000"

SCALE : 1/8" = 1"

PRODUCT REVISED

88 complying with the Florida
Bailding Code
Acceptance No

Exp

12.000"

12.000"

© 2009 TILTECO INC.

/ TILTECO me. \

Phone :

TR Ere
[

01 &

TILLIT TESTING & ENGINEERING COMPANY
€355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, Fl. 33166
(305)871-1531

e~mail: tilteco@aol.com

(305)871~-1530 . Fax :

EB-0006719

WALTER A, TILLIT Jr. P.E. !
FLORIDA Lic. # 44187 2

By 'd.
MEM' : Preduct Control
$2ivision
Florida Building Code (High Velocity Hurricane Zone)
60mm SLAT ROLL—UP SHUTTER | ¥ er
ROLLINGSHIELD, INC. #/3/09
(NSAF 1) bare
2500M/Iv.w. 74th AVE
MiAM, FL. 33 -
Fhane : (305)436-6661 . Fox .?2(305)”6—5523 09 047
REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE DRAWING No
OLD 05-218 +4/3/09
SHEET 8 OF 16




BOTTOM OF HEADER
OR CONCRETE SLAE"I

=

—
1.

750
MAX.

TOP OF STORM BAR‘I

I

3.000™:

o

[ A A

_________

TOoP

e

Yy YTrT————

SPRING—LOADED —A EF %Ei;
SYSTEM j o= 353 T\
I3EF 13E0 8
To=b T b : ™~
1t &
4xf|; - %f|; b |
==t 1ZE
<4 :lfr < :IE i
| 2= | =
Tk Tk

7
;

—0______Q__

C Ay R

7o e 2 o e

i/

|

|

! |

i

4

f

i

|

. 750" oy 750"{..

[

TYP. 3/8"-16x4 1/2* }

S.S. CAP SCREWS W/NUT i )
, o STORM BARS

REQ'D ONLY FOR @5 & ogpn-/ E—

STORM BARS !
l I

{

|

|

4-3/16"x1/2"
ALUMINUM BUTTON
HEAD RIVETS AT EACH
SIDE OF STORM BAR

\—S TORM BARS

L5007

= |

R P

EE SPACING & LOCATION
ON SHEET 2 OF 16).

1

|

%

%

BOTTOM i
SPRING—-LOADED ——\ | V7R Vi
SYSTEM &3 )

3.000™

I Y U )
Ty vy v vy

A A A A A A
L

AR RAAAAAN

LB

o=

©DBE0) F)

4~3/16"2x1/2" ALUMINUM

"TSEE SCHEDULE™

L£RONT

\ POLYETHYLENE

\9/76"0.&):3/16"
PITCH W/1/16"8

\_ POLYETHYLENE
BLOCK

2-3/8"x4" ALUM. BAR

BLOCK

2 #8x1/2"
S.M.S.

7.688"

WIRE, GALV.
STEEL SPRING.

]

-

A A
A2

A
I}

A
A

iy

)

ARAPARAAY

A A A A A & A X A

A

-~ -————g--

2-3/8"9x9"
aLv. Bap——"]

(6061-T6 ALLOY).

375"

TYP,

..375"-—{———!

=

SIDE _VIEW

TOP SPRING—LOADED SYSTEM

750" BUTTON HEAD RIVETS AT EACH
SIDE OF STORM BAR
e 1.
‘ !

SCALE: 1/2” = 1”

y
SEE SCHEDULE |

*’Jri,f" X (6061-T6) ALLOY. o Y —_—
' | SEE SCHEDULE™] —\ SEE SCHEDULE
4 jd . . b
b [2 #8x1/2" SMS. N e v B X, Y DIMENSIONS FOR A
7 |+] T m'j GIVEN TYPE OF STORM BAR
i LA bl RN N STORM
e b 'p q' ! E BAR TYPE X(in) Y(in)
i ! i '@ @' ¥ © 1 19/32" 1 19/32"
‘ | e[ T @ |1z | 2oy
§ Pl 5 8|1 P ® 123/32° | 3 23/32"
r E i i § = i | i i | i ® 1 15/32" 3 15/32"
i | : i | ; } | i 1 23/32” 2 23/32*
y I.‘b 'i: @) 1 15/32 3 15/32
! [ L Bl
: 1] |
Q
LT L L e
§ -—__..._F RONT ang g oRF STORM BAR
i SIDE VIEW
BOTTOM SPRING—LOADED SYSTEM
_ i SCALE: 1/2" = 1”
PLASTIC
/ BUSHING
S )
8 P
N . .
9 -
f #8x1/2" S.M.S. "
TRUSS HEAD ‘
J g
ormeD feaw é ih CONGREETE
N
—tt1/16" —-]

ENGAGEMENT HOLE DETAIL

(IN_CONCRETE) FOR REMOVABLE
SPRING—LOADED STORM BARS

SCALE: 1" = 1"

NOTES:

(1) ENGAGEMENT HOLE DRILLED IN CONCRETE SHALL BE 5/8"ex1"
DEEP, W/1/16" MAX. TOLERANCE IN BOTH DIAMETER & DEPTH.

(2) ENGAGEMENT HOLE DRILLED IN CONCRETE SHALL BE

PERMANENTLY PROTECTED BY FITTING PLASTIC BUSHING

(SEE DETAIL 1) INTO HOLE. IT SHALL BE THE RESPONSIBILITY

OF SHUTTERS'S OWNER TO PERMANENTLY KEEP BUSHING

FREE OF DUST & MOLD BY REMOVING [T FROM ENGAGEMENT

HOLE, CLEANING IT AND REPOSITIONING IT INTO HOLE AS

INDICATED ON ABOVE DETAIL.

TYPICAL SPRING—LOADED SYSTEM FOR REMOVABLE STORM

7 O

JRNIPN PR

688"

TYPICAL CONNECTION TO

STORM BARS (SIDE VIEW)

SCALE: 1/2” = 1”

BARS AS ALTERNATE TO THE USE OF CALK—IN _ANCHORS

25/8"

PLASTIC BUSHING:

SCALE: 1" =

DETAIL 1(ISOMETRIC)

7:1

PRODUCT REVISED

as complying with the Florida

Building Code
Acceptauge No
Expirag

O

D&

By__/ A .
Miiamni Dade Produict Control
Division
Florida Building Code (High Velocity Hurricane Zone)
© 2009 TILTECQ INC. DRAWN BY:
60mm SLAT ROLL—UP SHUTTER LG
liLlEco ROLLINGSHIELD, INC. /3700
INC. (NSA$ 1) bare
TILLIT TESTING & ENGINEERING COMPANY 2500 N.W. 74th AVE
6355 N.W. 36th. St. Ste. 305, VIRGINIA GARDENS, FI. 33186 MM, FL. 33122 09—041
< Phane : (305)87‘11-15'13: : Fé" ‘|(3°5)571“53‘ Phane : (305)436-6661 . Fax : (305)436-5523
m%aﬁ::?ﬁ@" N e~mail: titeco®aol.com il
R "f M\::‘:) EB—0006719 REV. o DESCRIPTION oure_| REV. Mo DESCRIPTION DATE DRAWING No
) WALTER A. TILLIT Jr. P.E. ) OLD 05-218 /3708
Ju\, 01 2539 FLORIDA Lic. # 44167 p” SHEET 9 OF 16




POURED CONCRETE W/
4" MIN. THICKNESS

REQUIRED

%

MAXIMUM MULLION SPAN FOR THIS INSTALLATION TYFE
(SEE SCHEDULE ON SHEET 16)

1 1/2°%1 1/2"%1/8"% MULLION_|
DEPTH Alum. ANGLE (EACH SIDE)
W/ (2) 3/8" kwik BOLT TZ

W/ 2" Min. EMBEDMENT TO SLAS
(Typ. TOP & BOTTOM).

1" x 2% x 1/8" Cont.
ALUMINUM ANGLE W/1/4"ex1
TAPCON ANCHORS @ 12" 0.

N

.500° Min. Typ—

FLOOR/CEILING MOUNTING :

SECTION W-W (1), W/O HEADER

SECTION W-W (2), W/HEADER

SCALE : 1/8" = 1*

(4) 1/4"0x3/4" TEK
SCREW EACH ANGLE.

I'x3'%3/8"x 0'-3" (6061~T6 ALLOY) Alum. ANGLE AT
SINGLE SPAN & 3'x3'x3/8'x0'-6" (6061-T6 ALLOY)
Alum. ANGLE AT MULTIPLE SPAN W/ (1) 1/2°0 THRU
BOLT AT SINGLE SPAN & (2) 1/2% THRU BOLTS AT
MULTIPLE SPAN. USE 7/8°9 0.D.x Y2" THICK WASHER

| |
o 1
Min, I l
[ !
[
| |
EXISTING GLASS e w 1
l /V W/ THRU BOLTS.
| [
| [
Q/4 OR R/4 | | Q/4 OR R/4
= l x
| |
| | \@ @
C)__ | |
OR
@ @ \! @ OR @
: { lL— (2) 1/2* 0 THRU BoOLTS
(Tvp. TOP & BOTTOM)
o o

POURED CONCRETE W/
6" MIN. THICKNESS
REQUIRED

e @ OR® (ONLY FOR  W-W(2))

J/4"
C.

1”x 2" x 1/8" Cont.

7
—\ 27N

A St

ALTERNATIVE :1

®or O

I3 UA3/8'x0"-3" (5061-T6 ALLOY) W/
(4) 1/4%x1” TEK SCREW TO HEADER &
(1) 1/2'2 KWK BOLT TZ W/ 3 1/4"
Min. EMBEDMENT TO WALL.

®

ALUMINUM ANGLE W/ 1/4'x1 3/4"
TAPCON ANCHORS ® 12" 0. C.

7

POURED CONCRETE W/

4" MIN. THICKNESS

REQUIRED

2 12"

’F::::::
\/: /’\\
/ \
A
| \ ~
| \ /
. [ ~—=
1 T -
7 % L
E /2"
.3/4"

1"

/R

2'xMULLION'S DEPTHx1/8" Cont.
ALUMINUM TUBE W/ 2°x2°x1/8"0'~2"
ALUMINUM ANGLE AT MULLION W/

(3) 1/4'2x3/4" TEK SCREW EA. LEG.

(TOP/BOTTOM)

(4" MIN. THICK).

(2) 2°x4°%1/4'x0’~5" Alum. ANGLE W/
(4) 1/4"0 THRU BOLT TO HEADER &
(2) 3/8"0 KWK BOLT TZ W/ 2* Min.
EMBEDMENT TO WALL.

USE 2"x7°x1/4"%0'-5" Alum. ANGLES
FOR CASES W/ 3" BUILD-OUT TUBE.

ALTERNATIVE :2

WALL MOUNTING : SECTION W-W(3)

WALL MOUNTING : SECTION W-W (3)

SCALE : 1/8" = 1"

SCALE : 1/8" =

NOTE: VALID FOR ALL SPANS AND LOAD COMBINATIONS.

NOTE: VALID FOR ALL SPANS AND LOAD COMBINATIONS.

POURED CONCRETE W/

4” MIN. THICKNESS
" REQUIRED

@®0R /

3" x 3" ALUMINUM ANGLE

Q@=@—=——T1 111

O

O ®

. il
B

||I
T

1| N

ELEVATION/ X

SCALE : 1/8" = 1*

©®=O—

3% x 3" ALUMINUM ANGLE -]

@—

| 1/2" [7/2“

Q@1

O @

ELEVATION/ X1

SCALE : 1/8" = 1"

®___.

clofom

(EXTENDED PASSED OPENING)

1T
)
j
|
1

(2) 2°x4"x1/4"x0’~5" Alumn. ANGLE w)
(4) 1/4"¢ THRU BOLT TO HEADER &
(2) 3/8"¢ KWIK BOLT TZ W/ 2" Min.
EMBEDMENT TO WALL.

USE 2"%7°%1/4"x0'~5" Alum. ANGLES
FOR CASES W/ 3" BUILD-OUT TUBE.

ELEVATION/ X2

SCALE : 1/8" = 1*

TYPICAL HEADER CONNECTION AT ENDS:

SECTIONS W-W

2"%2"%1/4"%0'~6" (6061~T6 ALLOY) Alum,
il ANGLE EA, SIDE W/ (2) 5/16" TAPCON Xi
I W/ 1 1/2" Min. EMBEDMENT WALL, OR
USE (2) 3/8" KWIK BOLT TZ W/ 2" Min.
EMBEDMENT TO POURED CONCRETE WALL

USE (2) 3/8" THRU BOLTS TO MULLION.

POURED CONCRETE

F—W—O
W/ 47 MIN. THICKNESS S

REQUIRED. Z S

1"%2"%1/8" Cont. ALUMINUM
ANGLE W/ Y%'ex3/4" TEK
SCREW @ 12" 0.C.

EXISTING GLASS —— ]

Min.

t
[
|
|
J
2
{
|
i
|
|
|
|

@

©

Q
]

NN

000

.

.000

POURED CONCRETE

REQUIRED OR CONCRETE
BLOCK WALL REQUIRED.
SEE NOTE 1.

W/ 4" MIN. TH/CKNE?&‘\ L\

o 00

@ 12" o.C.

RCIGEG!

1"%1'%1/8"%CONT. ALUM ANGLE
W/ 1/4"¢x1/2* TEK SCREW

NO_HEADER & STORM BAR ALLOWED.
UST SPLIT ROLL UP MULLIONS &
TRACKS W/ FACE MOUNT.

2'%2'%1/4"%x0°-6" (6061~T6 ALLOY) Alum.
ANGLE EA. SIDE W/ (2) 5/16" TAPCON XL
W/ 1 1/2" Min. EMBEDMENT TO CONCRETE

BLOCK OR POURED CONCRETE WALL, OR
USE (2) 3/8"0 KWK BOLT T2 W/ 2" Min.

EMBEDMENT TO POURED CONCRETE WALL

(4" MIN. THICK)

USE (2) 3/8" THRU BOLTS TO MULLION

WALL MOUNTING : MULLION CONNECTION

AT TOP & BOTTOM : SECTION W-W (1)

SCALE : 1/8" =

1"

NOTE 1:

EXISTING WALL MAY CONCRETE BLOCK FOR DESIG)
W/ 4°-0" Max. MULLION SPAN AND 4’—
SHALL BE 4" MIN. THICK POURED CONCRETE FOR ALL GREATER MULLION
SPAN AND LOAD COMBINATIONS.

N LOADS UP TO 130.0 psf
0" Max. MULLION SPACING AND

RODUCT REVISED

Division

MiamiWade Product Control

complying with the Florida
uilding Code
coeptance No
jratjon Dai

Florida Building Code (High Velocity Hurricane Zone)

© 2009 TILTECO INC.

/ TilEco .. \

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th. St., Ste. 305, VIRGINIA GARDENS, Fl. 33166
Phone : (305)871-1530 . Fax : (305)871~1531
e—mail: tilteco@aol.com
EB-0006719
WALTER A. TILLIT Jr. P.E.

FLORIDA Lic. # 44167

60mm SLAT ROLL—UP SHUTTER | o ex
ROLLINGSHIELD, INC. 4/3/09
(NSA$ 1) DATE
2500 N.W. 74th AVE,
Phone : (Josh)lﬁvﬂ'ssf;e'. ii] .?2(305)455—5523 09-041
REV, No DESCRIPTION DATE | REV. No DESCRIPTION DATE DRAWING No
7 LD G5-218 | 4/3/08

SHEET 10 OF 16

06




1/4" ¢ LAG

CREW @ £a. STUD V% 1 1/2" Min.

THREADED PENETRATIO
1" x 2" x 1/8” Cont.
Alum. ANGLE® (6063~T6 ALLOY)

©

WO0D HEADER REQUIRED I

YN

i

EXISTING GLASS

SEPARATION TO GLASE/
(SEE SCHEDULE ON
SHEET 12 OF 16)

/4" 8 LAG SCREWS @ 6" 0. C.

W/ 1 1/2" Min. THREADED PENETRATION ™

TO EXISTING WOOD STUD.

2" x 4” WOOD STUDS
REQUIRED @ CORNER
(TYPICAL)

X

— ::5‘. P
/Ay L LA I e —
L g \@ & L
MAX. ® e MAX

O*®

PLAN A (SECTION)
WALL _MOUNT

SCALE : 3/8" = 1"

Min.

'f:'_' L o

»

‘_7/4;,

“ ax.

FQ_ EQ.|| v

By

£Q—

t=—F

®

E o0,

2" x 2" x 1/8” Cont.

Alum. ANGLE

L_ 1/4% x 3/4” TEK SCREW
® 6" 0. C.

2"%4” CONT.
SILL PLATE "~ |
REQUIRED : 1/4" 8 LAG SCREWS
TIARN b ~ @5"0 C W
£6.]

A
N Wooo sTuD

@ 24" 0. C. MAX
REQUIRED

WALL MOUNTING INSTALLATION
SINGLE SPAN CONDITION

N T S

1"%2"x1/8" Cont. Alum. ANGLE
(6063~T6 ALLOY) W/ 1/4°6 LAG
SCREWS @ 12" 0.C. W/ 1 1/2”
Min. THREADED PENETRATION @
MIDWIDTH OF PLATE

PENETRATION TO EXISTING WOOD STUD.

1 1/2" Min. THREADED

PLAN B _(SECTION)
INSIDE_MOUNT

SCALE : 3/8" = 1”

®
OLLO)

NOTES:

1. INSTALLATIONS ARE ONLY VALID FOR BUILDINGS WITH DESIGN LOADS UP TO
75.0 psf AND FOR SHUTTERS W/O STORM BARS, HEADERS AND MULLIONS.

2. FOR NEW FRAME CONSTRUCTION: WOOD MEMBER TO BE SOUTHERN PINE No. 2
W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

‘/’"“'\

s £

N1 200

x 4" WOOD STUDS REQUIRED
CORNER (TYPICAL)

1/40x 3/4” TEK
SCREW @ 6” 0. C.

—2.00\' Min:

L — 2" x 4" woop sTups
- REQUIRED @ CORNER
(TYPICAL)

o1/at e
— LAG SCREWS @ 6" 0. C.

W/ 1 1/2” Min. THREADED

MAX.

PENETRATION TO EXISTING WOOD
STUD.

1"%3°%1,/8" 2%3"%1/8"
3%3"%1/8" OR 4"x3"1/8"
CONT. BUILD-OUT TUBE.

—

1/4"
MAX.

OR@

PLAN C (SECTION
BUILD—-0OUT

SCALE : 3/8" = 17

Florida Building

Lo

|
!

PRODUCT REVISED

as complying with the Florida
Building Code
Acceptance No
isatioyDa

By
Miami Dade Product Control
Division

Code (High Velocity Hurricane Zone)

)

© 2009 TILTECO INC.

/ TLIECO e, \

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th. St, Ste. 305, VIRGINIA GARDENS, Fl. 33166
Phone : (305)871-1530 . Fax : (305)671-1531

e~mail: tilteco@aol.com

- EB~0006719

WALTER A. TILLIT Jr. P.E.

FLORIDA Lic. # 44167

DRAWN BY:
60mm SLAT ROLL—-UP SHUTTER L6
ROLLINGSHIELD, INC. “ﬁ/rgg
(NSA$ 1)
2500 N.W. 74th AVE,
MIAMI, FL. 33122 09—-041
Phons : (305)436—6661 . Fax : (305)436-5523

REV. Mo DESCRIPTION DATE REY. No DESCRIPTION DATE DRAWING No

21 OLD 05~218 4/3/09 SHEET 11 OF 16




SLAT PERFORMANCE CHART
MAXIMUM DESIGN PRESSURE RATING "W” (p. s. f.)

AND CORRESPONDING MAXIMUM SLAT SPAN "L” FOR TYPE 1 SLAT

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOADS)

SAT TYPEL  yaxiMuM MINIMUM SEPARATION
SLAT SPAN T0 GLASS
Max.
DESIGN SINGLE & SINGLE & SINGLE &
LOAD MULTIPLE MULTIPLE MULTIPLE
"W (p.s.f) UNIT * UNIT ** UNIT *xx
40.0 OR LESS 6'-8" 3" 37
45.0 6'-6" 3" 3"
50.0 6'~3" 3" 3"
55.0 61" 3" 3”
60.0 5-11" 3" 3"
65.0 5'-g9" 3" 3"
70.0 5'-7" 3" 3"
75.0 5'-6" 3" 3"
80.0 5'-5" 3" 3"
85.0 5'-3" 3* 3"
90.0 5'-2" 3" 3"
95.0 5'-1" 3" 3
100.0 5'-0" 3" 3"
105.0 4'—11" 3" 3”
110.0 4'-10" 3" 3"
115.0 4'~9" 3" 3"
120.0 4'-8" 3" 3"
125.0 4'-8" 3" 3”
130.0 4'-7" 3" 3"
135.0 4'-6" 3" 3"
140.0 4'-5" 3" 3”
145.0 4'-5" 3" 3"
150.0 4'-q" 3" 3"
155.0 4'-3" 3" 3
160.0 42" 3" 3"
165.0 4’1 3" 3"
170.0 4'—0" 37 3
175.0 4’-0" 3" 3"
180.0 J—11" 3" 3"
185.0 3'~10" 3" 3"
190.0 3'-10" 3" 37
195.0 3'-9” 3" 3"

—t—
B
F—t—
E—r———
F——t—
—t—

= - =|

SINGLE SPAN MULTIPLE SPAN

SPAN LAYoUT

* SPANS VALID FOR EVERY INSTALLATION LOCATED AT ANY ELEVATION OF
BUILDING MEASURED AT BOTTOM OF SHUTTER.
MINIMUM SEPARATION TO GLASS FOR SINGLE AND MULTIPLE UNITS SHALL
BE MEASURED FROM BACK OF SLAT TO GLASS.

**  MINIMUM SEPARATION TO GLASS FOR SHUTTERS INSTALLED WITHIN THE
FIRST 30'-0" ELEVATION OF BUILDING AND MAXIMUM SPAN.” SEE TABLE 1
FOR Min. SEPARATION TO GLASS FOR SPANS LESS THAN THE Max. ALLOWED.

*ex - MINIMUM SEPARATION TO GLASS FOR SHUTTERS INSTALLED ABOVE 30°'-0"
ELEVATION OF BUILDING, MEASURED AT BOTTOM OF SHUTIER.

TABLE 1:

SLAT SPAN (ft.) MINIMUM SEPARATION TO GLASS

80" OR LESS 3"

NOTE : THE TOTAL SLAT DEFLECTION AFTER ADDING
THE DEFLECTION OF THE HEADER AND/OR THE
STORM BAR SHALL NOT EXCEED A MAXIMUM OF
2" OR /30 IN THE POSITIVE DIRECTION AND
A MAXIMUM OF L/30 IN THE NEGATIVE DIRECTION.

PRODUCT REVISED

as complying with the Fiorida
Building Code
Acceptance No
Expiratjon Daic

Miami\Pade Product Control
Division

Florida Building Code (High Velocity Hurricane Zone)

© 2009 TILTECO INC. ) RAW! Y:

60mm SLAT ROLL-UP SHUTTER oram &

/ liLleEco ... \ ROLLINGSHIELD, INC. /3708

: (N.S.A.f 1)
. 6355 N.w. JS.th. St., Ste. 3 ! , Fl. MIAMI, FL. 33122 _
Cﬁ, ) == —_ Phone : <e3?-5r):;i1l-—1§lstaeéog’; 61(222871—1531 Phone : (305)436~6661 . Fax : (J05)436-5523 09-041
”;7;“‘"&;:‘._5* - 63_0005719' RV, Mo DESCRIPTIGN DATE | REV. Mo DESCRIPTION DATE DRAWING No
p WALTER A. TILLT Jr. P.E. aLD 05-218 4/3/¢
SN Q1 2009 FLORDA Lic. # 44167 - = 2 SHEET 12 OF 16




STORM BAR LOADING CHART
MAXIMUM DESIGN PRESSURE RATING "W” (p. s. f.) AND CORRESPONDING MAXIMUM SPAN "L” FOR

A _GIVEN TYPE OF STORM BAR AND STORM BAR SPACING.

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOADS)
MAX. SPAN FOR STORM BARS W/REGULAR CONCRETE ANCHORS

-]
el
=
2

DF
o4
22
2 5
£s
5=
SaE Y
g 83
2o 3
ol gl
.5 = a 2 [ a |=
Gl st iz sl Tl a2 ~l=2 2 {alalas sz |z |a |~z l2l2]31z]2atlza/|a
O~ N~ O o v N O ~| o B ©f W M N~ O] ~| =| =] & B B N N| O B i
3 I I Y U B B Ul O N B BN VR DR BN B A R B Y N R R RN
NN efolo D gl bl b bl ¥ v ¥ ¥ ] ] ] ¥ ] T ] B W] W] | ] | R | ] T
©
MOMO"MMM"M/""""nwluo.hn""”"n""""‘lno.ho"""nn
ofTlvlomuiNn|~ ool ™M ~|~|>a/Noln|r|ma|~|~lo|l~|=|Tlo|w|o|N|N
S R N N R N NN NN R NN RN AR AN RN RN
x: el ININ[N oiojlojbilibiBiV LY ||| [T [T ]|W
NHE
=18
WX ,5 3 2 = L]
5 @ 2 |a |a f=a o la Jas da a2 s J~f=2 |z fx j2 fa lz ~|Ofz {2 [z |z [z {2 |z |2 [2 {2 |z |3 [+ [+
+id JoN| oY |o|a|om|~~[o|No|lr|anl~I=|=|o|lo|Nolbx¥ (M| n]-=o|< I
R T N AR N A AR NN AN R AR NN AR AR NN RN AR AN
%um,48877766.6655555554444444444444433
SN
[
*4 .,..:»0;:;::-n»n‘luuuuuu»nmlu.OnOuu".m/nnnn
= |2 ]= |=a = s [3 |=x j=a [= P | v— ] w— | O] | T+
O M R R R R kI R R AR o o A R R iR
Wlo|l || N NN N|ojo|wo|o o ufbibivibvivinloivIF| T[] T F ¥+
!OMTJMI""nnnnuOunnuMO»nnnuun‘InOnnnuu"..nunn
dJr | ~ww ~ol+~=INblny|[O|=~o|/ojlumMm|y|o|~<|lojw|o|v|v|lvmM|(Ni~|o
S BN N R A R N A RN RN NN AR RN RN
<79999888777776666666555555555555
n 1 N R O O I
5.u7,;uu0uunn»nOuunnuunnn»nu»nfllonon
9530776427079876554332770077779
=} ALY I N R S R N R R R R R R R I RN R R R R R R R R R
Elolnlnl b bl 3 3wl wl wl el el ial i snl il ml el sml el ] el el il sl anfanf sl
. AT IR R A Y Y B ST T Y IS B YT Y Y B B LY BVSN rN I NVY r  NY r Y
©
an"nnM"uMOMMnu"nn;l"OnnnnnnnMM"nunn".“IHI
T O QLN OOl M N[O~ o|n|Nolo|lo|[¥mMIiMin| g ~I~]ola]|~]|~
= R IR R IR AN AR RN I AR I RN R RN RERERERERENERA NN
2 [2]. fololblbjblb|* ¥ ¥ [ ¥k~
SNV R
7|5
WX - s a 2 |2 Ja
5= R_.Dnnn.lnnnu.lunnunuun.Ioonn»n»nnnnunn
JMO07378637798654270117987765543322
N S S S R R Bt U D U S U IOV U O A O O I U O B O U O T O O R B O o AR R B B B Y
O B VIR T AT SR A S A R I R R Y R R B Y B Y S S N N O SN SN N
WZ.&4
* 15§+ 2 2 {a : |2
Ounnnn7»»nnn10nnnnuununn70nnunnn
@ O~ ¥ O ®© ¥~~~ o oltN~~“|o|No/bl¥y M|~ ola|~|~|o|om|ow|n|N|w©
SR L e a3 AERENERER
mINNN oo oo L L OBILOT | FfF ||| [
uOuuuunnnnnnnun'uunnuuI:Ou»n»»nnunnn
N RN R NN RN AR N R Rk
o Bl S T T LI R A P R O 10 U G 0 1 T T L
U888777%,6,6,6,6%5%55.5554444444444444
HD..,:nO;.:nuu.O;»;..;:;:....»nnol..;.;
Cluol~| SN m -~ <R o|Nololdm o~ 2 320l olo NN |b
o N R R R NN R R RN RN RN RN AR R
 RIEIR IR IR IR R I R S N R S S S S S Y A N R Y A A R R N e
©
,ﬂOunnunn»nnuOuununnnunnnu.ln.l.nOMOnnuun»u
x: | o Nim™loloaNbMm ~o|~ojloNololw M N|~~O|~|~=|<|o|mjo|o|N[N]|©
e RS ISR NN SRR BN DU R R SR DU U R U D S I R L O O O O O O O T I I I RERERER
MVM.55544444433333333333322222222222
o n | n
S x
Sk
\Y) N 2 2 : [z |x fa
i M_.Dunnquunuunn7nnunnunuuunnu»1700»
w X | & Ol Mo~ M ~Oi~lo|N|IN|[oB|¥E MMy~~~ ~I=]=]o
S R IRFLE| LT T T | | T
e e O R S Y R T R B e N R N N N Y Y N N N N N A S N N N e N A I A
-
ol
14-unﬂn.,0nuuncl.0.h”ﬂnh"un"‘l"0u"nnnnnn"nn""
olo|of=|INwvin|lol~loN | MNn|~o|~|~lo|o|NiNo|lo|o|wlmim|o|w |~
RYET| T T o ool [ oo S I L AU O A U O B T B
~ lojlojlo[LiLI L LILIFT T HHHHIFF|F[ MMM [ R || W
LY
.ann”"”nnuunu"unﬂlhnnnnnun"nnnt/.hO"nnnn
tHo|o| ool Ny ol ~lo|o|/No bilvmMN~[0|o|~[ = {o|o|w|w|N
S NI I R I R N AR A RN R AN R R R R RN R AR )
vl©leje|ololoioibiblolnin|lbi v ¥ ¥ H || R0k
~ 10
= bl 1%
82d |3
VIOV QOILVLIQOILvIOL|IoIvIioIvIcIviclvolv|ioln|o|violw|o Q
M%w,( S|¥B|w SoKINIB QSRS SIS2|NNB|RIF FB(8|B|8IRIRIBIB|S|S
=7 2 e
i

R
4
™
Ly
m
~
Q
=
~J
I
T
%)
3
&
~
3
%)
=
D
2
3
=
<
&
I
S
D
&
Ly
m
~J
I
iy
%)
o
<
S
N
%)
<
o
=
@
N
»

*

ade Product Control

Florida Building Code (High Velocity Hurricane Zone)

o
. Y o -
s 2
@ o X S
o X8| 98
ES5 |10 I § R
3 NN N By
q o X m
3
x g
M~
M~
=
Tlo  §fs
wIlZ ‘g
S “D
Sl u.8
Q. <N
_ L\U.ﬂtlxm
Mot
S YRR L |-
~J l'.7..nn
< . s
S [Haziiffe
x O 335
~ | 837
— N 5
Mﬁ_ ~d - 1zle
Nl gIE
Q £I5l8
& Q B
. 2
Ne} g ~

© 2009 TILTECO INC.

vN..ﬁ

%

. Mﬂm

QO

oY
z Gmmm ui
- NW\MW oo
Olfcs ;s
Hg o=
Zze? O G
c mw..mmuc
R -]
11 ) et o
st D5
FrE kel
59 uwx
Ji2iaf 53
£9o | "

20 2

_— ), =

=

8

E=a

T-D

JUN Q1 2029




STORM_BAR LOADING CHART
MAXIMUM DESIGN PRESSURE RATING "W” (p. s. f.) AND CORRESPONDING MAXIMUM SPAN "L” FOR

A GIVEN TYPE OF STORM BAR AND STORM BAR SPACING.

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOADS)

MAX. SPAN FOR STORM BARS W/REGULAR CONCRETE ANCHORS

as complying with the Florida

Mitarni Made Product Control

Division
Florida Building Code (High Velocity Hurricane Zone)

uW »

o
)
W)
“u
5E 0
& o8 2
BEs0 8%
= maﬂ
254 54
2S5 ER\
Aadm<m vim
SEFPI TR TSN ™o RN Mo S o N b3 N~ ool bo|b|
<) R A I o P I i 1 1 ] 1 { i I i 1 I i 1 I } 1 | | 1 1 1 1 1 ] |
S B B R S SN S R D D N R O R T N B T U L P U U LU I S I R O O L O O
~~~ s S SSio |00 O OfNNIN|INNKN NNl o ol ol o|olo
©
© rm »6 »2 ...H nnd .-mO »4 .Ml ml uO ES S E n.l 2 2 2 2 ) .MI 2 2 = = 2 = B ».l n0 2 2 2
Pl pptfaaf sl loNIY N[O~ INOIF | MIN|O|~|<|o|w|N
. o3 R N e N N N S N A N N RN AR RN AR AR AR
Sl 13 == 2= |2 Ro|o|o|n|olw|oloioo|o|NN|INNNINININ G| lo o o
£ 2l
s> |a
X a [ - R 2 2 2 £y a2 ] 3 ] £ 2 2 2 2 x ]
S 0y DI QO[NNI OIM|~| QIO b H H H Q= 2 H 2 2 - 1O [ Y 2 a2 Y a
By LRt af ol di SNy |nlof~lo|loivini=I<[2]% Nl iN
x m VR T B IS I e i o B B B A= = AL L 1 T O I Y S T O A NN NN
”nn/_ s . ]~~~ I~~~/ ||| 00|00 [0|N|N NINININININ
N A
e = T
P a2 s iz {x 1O [=2 j= |= Ofls s |5 =[x |2 {2 [= z
* - OO~ ~INO|NO|~JOIN[OIF|N|~~IO]=x 13 [z |2 |2 [z s = js |z |2 [z [=2
SN U U U B U R IR U R U B e DU B B DR el Bl SR T IS R N ST Al I DN SR RS R ENR RS
= Mmlan| NN~~~ ~|o|olalo|o|oloft[dd | { i i by v agad RN
.TJ Dt Bl Bl Sl e Bl Bl Bl Bl Bl B el Bl B B B IR N BN ROR RO RO RO NORE B AR B S B NV
2 & 8 ] 2 = 2 3 3 ..0 2 ] 2 2 2 - ,0 3 = 2 B 3 3 2 ] R 2 &
Ol~o|+|ojlojomo|lo|lo|lv| |~ |~~lo|Nfo|b|¥|n|~{O]~|~[ols |z [+ s |s
A IRR U SR SR S U O TN 1 U T I o S O A OO B AU T N N I - R A R R Y
Rl R I N I N R N R R R R R S N N S S R S S S A S Y B R R AR A R AR N N N
Al el N IR BN A Rt Bl Bl R e R R R e N N N N I R R N RN A A R N N N
\v4
:_.D 3 2 2 3 2
nO. £y H H H Hy Qf = 2 a - | 2 E] H 2 2 EY H] - Q= 2 H H 2 2 £y E H 2 H] Hy -
DN~~~ NI N[~ OO+ M ~O~|~j|0|N Ol Ol M N~ O] O] =~
S P R N I N N A DY SV D U N D AN BV S SV U BV B S BN DR B B B AR B B )
. VO NNNOGOGO LIV VLVIBIOVIL|O| ] Y ] ] ] ] ] ] ™
©
- by 2 H 2
w0 £y b = = Ey H Q=2 E S H] x Q= B3 E] H 2 2 1y - Q= H Q 2 2 2 2 2 X 2 2
NS~ ¢ ~|~INWwBNO~TNLBl+YMI~[Ol~=~ |/ Nfo|lblu(w|[MmiNn|n]~-
. RES A L e L e o
©oel. VNN N OOl
EN]=1lb
=~ 3
g
b
m" & n 3 ol
£ £ H 2 3 3 B - - 5 : 2 = 2 H = 3 = = 3 2 2 Hy A ] 2 ] a N
Pt olol ol ¥ = o ok Sl o N w2 o N ool oo I2o|wiNolo
o X 3 m REIREINE NN N ] | IR BN RN A N R IR DRI B I R I Y O O IO O I B RN RN
wea | 21+ o |l o] NN RKIKN © © ol ol o] ©ln| 0 O G V| BL{O| | ¥ ]|
Q S ~+
W@ 5
* =+ 2 'Y 2 £ 2 H 2 2 ,0 = ® 2 = 10 = 2 2 2 2 = wl n0 = 2 = £ 2 = B 2 2 =
Ol MOl NOIM ~ ~ N Yo O <o Ol b MN| o w2 o N © ] v M M o~ O
= { (R AR S B O I N O I 8 A B I I A b R S R B RN E N ] i | L 8 O R R I I A O O I O
.399988888777776666666.555555555555
.:mU u-J ml 2 B 2 ® ml 2 = H 2 2 3 ml H B 2 B H ml »0 2 =z 3 a 2 2 = s - :0 2
A = ® OB M~~~ N M~~~ OFM~ <o NooloMmMy~QO~~|®
N B IS U N R I R N B N B DU R B R N R IR R R NN AN RN
wil ™| @ @ @ ® & © © o oo oo NKNNNNNLB GO OO OGO L NN
2
Ma 2 £ £ E £ by £
: H] b H B 2 Qf = H 2 1= H ® El 2 | Q& 2 H B 3 2 2 H | Qf Qi = 2 2 2
Clo|lwl o N o I N ¥ =~ =~ | o ¥ o ~f = = o N © ¥ o =] o <2 o o NN
o eyt gt RERNEEN SRR A BN A R MUR PR B R B S
Sl ol ol o o of NN N N| o ©f ©f of ©f ©f v ] b ] o] n] bl o] bl bl ¥ ¥ ¥ ¥ v N
©
MO ntl 2 3 nnl 2 2 Mn/ 2 £ X X Hy ] 2 = 3 2 It/ -}.0 2 3 2 X X 2 R Hy X .D“/ .1’0 x H
SR H O N~] OO N[OIONBO T INO|~~DNjO(Biv M|y~~~ |o
AT L T L a3 NERER
. o |- YO DO NNNNNOG OO OjlololwlujvjluBib bbb |o|N™Y|w|™w
FAE ER R
N K
DMnX nD\w - £ 2 b3 2 by E 2
mu o 5 5 —— o Y 2 2 £ 2 3 o 2 £ 2 3 A 2 £ ] 2 ] £ 2 A 0 a ] 2 : 2 b3 2 2
(2 2 lo f =N YOO+~~~ M~ ~TON O +M~O|~[=on[N|wojb|{x+]|™]N
~+ Rl ol by bp )y ap |l JRLI I e T A T R I O I O O OO O B RENI
e z - ~ =~ ol oo 0 @ NNINNNOG G olojo|jo|lojloj|bj|i bbbl |n
A
S R R R R R N R I RN R R R RS RN N I Y RN RS RN Y AN N S R N - I B
=~ Rl o o DAL LI LI T I B T O I O IO I O 8 O Blapry i rfara L L I O N
“ W T2 S S| o o o o @ o o]l NN NN KRN NG| o]l il ]inlis n
.:mU 10 2 R M/ H H H Hy 2 H H 2 Q
] | O N | O ©| | ~| -] O 1 ] S 2 | 2 2 2 2 2 2 2 2 £ = 2 2 2 Q= 3
N el |l =l ~o o+ ~~oo]+inlo~|a|o|vin| M- 2| o]0
B RS RS R RS S S S L S AU U L I L U TS LS L 0 B 0 IR O T O T O BT O O
i =] =~~~ ] ol ojolo| oo ool ool N NKNINNNNINN O o
~ %)
wl %}
MWDQM S
=Endl VIO VIOIVLIDILIQIV|IQ|v i g|lv|o(vw|o|{nvwlo =) [}
SQO™ 1§38 3|3|QRIR|ZBIFBIS|QILIRNIQIVIQILILIRIGIRIQIS]|e ISR
AD/_ A N ol B B 2 R S AR I B Gy R g et IR S Broudiy Bhoug Il uid
= 3

STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED.

*

o
- Y o -~
x ¥ 2| u
28wl Su|S
Z G /-.M I 2z ~
AWnL Jd E
M =
o A ~
q O EIS
W
&
- ¥
Ly 3
~
I~
D 3
Tle B
w1z i
- m
=
3|3 g
ST
-~ 2..M
P ~=s55)2
= Ly o X758
.
SER R ERIND
0% N9 =_95e
O35S
A R A
~ | 278
<t {5 2
[} NNL
Al R
REN KS TR
g Qc 13
S 2
o} m...z
58
\Au
Q.5
 |=ZEn
°|
2[°%
oBRE Y
5 INW%O aw©
(%) £0m o —
=z [ e
OEM..WQJay
Q BxE T
N NS YiR N
= 0" o092 ¢
= N50.ww_.lu
o || (520
L <C
3 &.mq_.mmRm
& o:22 HE
o Lmﬂm_ 2
- e 3
ng-
-2
zQ
B8
/Mw
F8
>g
&3
€5
1~
L Ll
<
==
-
-3
y
)




STORM BAR LOADING CHART

MAXIMUM _DESIGN PRESSURE RATING "W” (p. s. f.) AND CORRESPONDING MAXIMUM SPAN "L” FOR

A_GIVEN TYPE OF STORM BAR AND STORM BAR SPACING.
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

MAX. SPAN FOR STORM BARS W/SPRING—LOADED SYSTEM

TYPE 1 STORM BAR TYPE 2 STORM BAR TYPE 3 STORM BAR
MAXIMUM 2" x 2" x 3/16" 2" x 3" x 1/8" 2" x 4" x 1/8"
DESIGN
LOAD X STORM BAR SPAGING X STORM BAR SPACING XX STORM BAR SPACING
"W” (p.s.f.)
£3=-0" |3T04 | <3-0"| 04| < 3-0")| 37104
40 OR LESS 41_5” 3I_4u 8'—0" 6’-—0" 10'_0M 71_9”
45 ‘3:_11:: 31_01; _y» 5:_4u 91_2n 51_170
50 3 Py o5 210" 53" 6—2"
55 33" 5" 510" 2 > g" 5_g”
50 30" PORT 54 20" 11" 5o
o > g” POND 11" g PIwD 2 9"
0 > 6" T POT 35" FONPE 75"
o e Tg” 3 32" Py oD

¥ STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM
SLAT SPAN SHALL NOT BE EXCEEDED.

STORM BAR LOADING CHART

MAXIMUM_DESIGN PRESSURE RATING "W” (p. s. f.) AND CORRESPONDING MAXIMUM SPAN "L” FOR

A _GIVEN TYPE OF STORM BAR AND STORM BAR SPACING.
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

MAX. SPAN FOR STORM BARS W/SPRING—-LOADED SYSTEM

TYPE 4 STORM BAR TYPE 5 STORM BAR TYPE 6 STORM BAR
MAXIMUM 2" x 4" x 1/4" - (2) 2" x 3" x 1/8" (2) 2" x 4" x 1/4"
DESIGN
LOAD > STORM BAR SPACING | > STORM BAR SPACING | s STORM BAR SPAGING
"W" (p.s.f.)
30" 04| 3-0"] 3 T04 | <3-0")| 3704
40 OR LESS| 10'-4" | 7'-9” 10'-3" | 9-6" 14'~1” 12°=1"
45 91_2» 5‘-—11" 9:_77.» 8!_71» 7\3’—8" 10”‘8"
50 83" PPy 95" 50" Z=i0°| 9-&"
55 7'—6" 5,_8,, 9,_5n 71_‘3:: 11"‘8” 8‘—9"
g o YL g 10-8" 8-0" PRODUCT REVISED -
60 611 52 511 6, - V o — : as complying with the Florida
65 6'—4" 4’-9” 8’2" 6'-2 g'-11 7’-5 Building Code 0
B » e _on _qn 9'—2" 11" Acc.ept:.mce Mo .
e T IR /A i e Expirgton I
75 5-6 4°—-1 7 =1 5-4 8-7 6-5
By Al
* STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM Mian#ade Product Control
SLAT SPAN SHALL NOT BE EXCEEDED. Division
Florida Building Code (High Velocity Hurricane Zone)
© 2009 TILTECO INC. DRAWN BY:
60mm SLAT ROLL—-UP SHUTTER LG,
/ ILTEC O i \ ROLLINGSHIELD, INC. osos
. (NSAf 1)
TILLIT TEShTING & s%EG'NEEfTARGn:Cso"APém(s 2500 N.W. 74th AVE,
s 6355 N.W. 36th. St,, Ste, , VIRGINI NS, Fl. MIAMI, FL. 33122 —
B e N iy e e G T s 09041
e T e e EB—0006719 REV. No DESCRIFTION OATE_| REV. Mo DESCRIPTION DATE DRAWING No
perng ataly ¢ WALTER A. TILLIT Jr. P.E. OLD 05-218 1/3/08
o012 FLORDA Lic. § 44167 : = SHEET 14A OF 16




HEADER LOADING CHART MAXIMUM DESIGN PRESSURE RATING "W” (p. s. f.) AND

CORRESPONDING MAXIMUM SPAN "L” FOR A _GIVEN TYPE OF HEADER.
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOADS)
TYPE 1 HEADER TYPE 2 HEADER TYPE 3 HEADER
MAXIMUM 2"x 3" x 1/8" 2" x 4" x 1/8" 2" x 4" X 1/4”
DESIGN
,W.,L?;‘g ) STORM BAR HEIGHT STORM BAR HEIGHT STORM BAR HEIGHT
£ 5-0"| 57107 < 5'-0" 5710 8 < 6'-0" 610 8 8 10 10| 10010 12° ) 12' TO 14’
40.0 g'-11" 8'-¢" 12'-2" 9'-8" 14'~10" 12’-10" 11'—6" 10'-6" 9'~g”
45.0 9’4" 7=11" 11'-6" 91" 14’-0" 122" 10'-10" 911" 9'-2"
50.0 8'-10" 7'-6" 10°-11" 8'-8" 13'-4" 176" 10'~4" 9'-5" g'-8"
55.0 §'-5" 7'-2" 10°-5" 8'-3" 12'-8" 11'-0" 9'-10" 9'-0" 8'—4"
60.0 81" 6'-10" 10'-0" 7=11" 12'-2" 10°-6" 9'-5" 87" 711"
65.0 7'-9" 6'-7" 9'-7" 7'~7" 11’-8” 10'-1" 9'-0” 8'-3" 7’-8”
70.0 7'-6" 6'-4" 9'-3" 7'-4" 11°-3" 9-9" 8'-8" 7'-11" 7'~4"
75.0 7'-3" 61" 8-11" 7-1" 10°~10" 9’-5" 8'-5" 7'-8" 7-1"
80.0 7'-0" 511" 8'-8” 6’-10" 10°~6" 9'~1" 8'-2" 7'-5" 6'-11"
85.0 6'-9" 5'-9” 8'-5" 6'-7" 10'-2" §'-10" 7'—11" 7'-3" 6'-8"
90.0 6-7" 57" 8'-2" 6-5" 9'-11" 87" 7'-8" 7'-0" 6'-6"
95.0 6'-5" 5'-5" 7=11" 6'-3" 9’-8" 8’4" 7'-6" 6-10" 6'-4"
100.0 6'-3" 5'-3" 7'-9" 6'~1" 9'-5" §'-2" 7'-3" 6'-8" 6'-2"
105.0 61" 5'-2" 7'-6”" 6'-0" 9'-2" 7~11" 7'~1" 6'-6” 6’-0"
110.0 6'-0" 51" 7'—4" 5'-10” 9'-0" 7'-g" 6'—11" 6'—a" 5'-10"
115.0 5'-10" 4'-11" 7'-2" 5'-8” 8'-9”" 7'-7" 6'-9" 6'-2" 5'~9"
120.0 5'-9" 4'-10" 7'-1" 5-7" 8'-7" 7'-5" 68" 6—1" 5-7"
125.0 5=-7" 4'-9" 6'—11" 5'-6” §'-5" 7-3" 66" 5'—11" 5'-g"
130.0 5'-6" 4'~-8" 6'-9" 54" 8’-3” 7'=2" 6'-5" 5'-10" 5'-5"
135.0 5'-5" 4’~-7" 6'-8" 5'-3" 8'-1" 7'-0" 6'~3" 5'-9” 5'—4”
140.0 5-3" 4'-6" 6'-6" 5'-2" 7'=11" &'-11" 6'-2" 5'-7" 5'-2"
145.0 5'-2" 4’-5" 6'-5" 5-1" 7'-10" 6’-9" &'—1" 5'~6" 5—1"
150.0 5-1" 4'-4" 6'—4" 5'-0" 7'-8" 6'-8" 511" 5'-5" 5'-0"
155.0 5-0" 4-3" 62" 4’-11" 7'=7" 6’6" 5'-10" 5'-4" 411"
160.0 4'-11" 4'-2" 6'-1" 4'~10" 7'-5" 6'-5" 5'-9” 5'~3" 4'—10"
165.0 4'-10" 4'~1” 6'-0" 4'-9" 7'-4" 6'—4" 5'-8" 5'-2" 49"
170.0 4'—10" 4'~1" 5-11" 4'-g” 7'-3" &~3" 5'-7" 5=-1" 4'-10"
175.0 4’-9" 4’0" 5'-10" 4°-7" 7'-1" 6'-2" 5—g" 5'-0" 4’-8"
180.0 4'-8" 3'-11" 5'-9” 4’-7" 7'~0" 6~1" 5'-5" 4’~11" 4'—7"
185.0 4'=7" 3—11" 5'-8" 4'~6" 6'—11" 6'-0" 5'-4" 4'=11" 4'~6"
190.0 4'-6" 3'~10" 5'-7" 4'-5" 6'-10" 511" 5'-3" 4'-10" 4'-6"
185.0 4’-6" 3'-g" 5'-6" 4’-4" 6'-9” 5'-10" 5'-3" 4'-9” 4'-5"

R

JUN 01 2009

PRODUCT REVISED

as complying with the Florida

Building Code

Accepiance No
irgtion Dat

By >
Miand Dade Product Control
Division

Florida Building Code (High Velocity Hurricane Zone)

© 2009 TILTECO INC.

/TLIECO me. \

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. 36th. St., Ste. 305, VIRGINIA GARDENS, . 33166
Phone : (308)871-1530 . Fox : (305)871—1531
e—mail: tilteco@aol.com
EB-0006719
WALTER A. TILLIT Jr. P.E.

FLORIDA Lic. # 44167

60mm SLAT ROLL—UP SHUTTER | omm er
ROLLINGSHIELD, INC. 4/3/09
(NSAF 1) DbaTE
2500;.4’/\" V/{;L 7331 e
Phona : (Jogﬁé‘—'de 7. . Fax : (305)436-5523 09—04 7
REV, No DESCRIPTION oAtE | RV, Mo DESCRIPTION DATE DRAWING No
1 OoLD 05~218 4/3/09

SHEET 15 OF 16




MULLION LOADING CHART
MAXIMUM DESIGN PRESSURE RATING "W” (p. s. f.) AND CORRESPONDING MAXIMUM

SPAN "L”(Ft) FOR A GIVEN TYPE OF MULLION AND MULLION SPACING (Ft.).
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOADS)

TYPE 1 MULLION TYPE 2 MULLION TYPE 3 MULLION
MAXIMUM Ix 4tx 18" 4 x4 X1 4" % 6" x 250"
DESIGN
”w"L%.Ds " MULLION SPACING MULLION SPACING MULLION SPACING
$ 4071470515 10616 708« 4-0"|4 1055 T106|6 1082020551066 7088 10 10010 O 127
40.0 9-0" | 84" | 7-10"| &'-2" | 11°=9" [ 10=11"] 10=3"| 10'=9" | 162" | 16'~2" | 14~5" 14'-10°1 1310 13-0"
45.0 §-8" | 80" | 7-7" | 710"} 11°-4"| 10-6"| 9'-11"| 10— | 15'=8" | 14=7" | 13-8" | 142" 13'-3"| 12'-6"
50.0 §-4" | 7-9" | 7=3" | 7~7" V1o-11"| 10=2"| 9=7" | 100" | 15=2" | 14=1" | 13~3" 13'-101 12’'~10" 12'-1"
55.0 g-1" | 7=6" | 7=1" | 7=4" Y 10-7"| 9~10"| 9=3" | 9—g” |14'=8" | 137" | 12-10"] 132" 12-5" | 11'-8"
60.0 7-10" 7-3" | 6=10"| 7=2" | 10'=3"| 9’7" | 9'=0" | 9'~5" |14-3" [ 13-3" | 12—5" | 150" 121" | 11°-4"
65.0 7-8" | 7-1" | 6-8" | 7’=0" | 10-0"| 9'-4" | §=9” | 9—2" V13=11"| 12=11" 12=2" | 12'-8" | 11°=9" | 111"
70.0 7=5" | e=11"| 6'-6" | 6'=10"| 9’-9" | 9~1" | &'-6" | =11 | 13=7" [12=7" | 11—10" 124" | 11’-5* | 10'-9*
75.0 73" 1 6-9" | 64" | 68" | 9-7" | 8-10"| 8=4" | 8=8" | 13-3" | 123" | 117" | 12—1" 11°=2"| 10"-6"
80.0 7-2" | 67" | 63" | 6-6" | 9'-¢" | 88" | a'-2" | 8=6" 12117 12=0" | 11—~ 11=10"1 10111 104"
85.0 7-0" | 6'~6" | 6'=1" | 6'~4" | 9-2" | 8~6" | a'=0" | @'—4" | 12'-8" | 119" | 17—1" 11°-7" 1 10'-9" | 10-1"
90.0 6-10"| 6'-4" | 60" | 6'~3" | 9=0” | 84" | 7—10"| 8=2" |12=5" [ 117" 10-11"| 11'-4" | 10-6" | 9'-11"
95.0 6-9" | 6-3" | 5-10"| 6-2" Y &’-10"| &"-2" | 7-9” | &=1" V12=3" | 11—4" | 10-8" | 112" 10-4"1 9°-9"
1000 ) 67" | 6-2" | 5-9" | 6=0" | 8=8" | &-1" | 77" | 7—117 120" [ 11=2" | 106" | 10-111 102" 9'-7"
105.0 6-6" | 61" | 57" | 5'=11" ) &—6" | 7~11"| 76" | 7—9” Vit—10"| 11=0" | 10—a" 10°-9" - -
110.0 65" | 5=11"| 5-5" | 5'~10"| &-5" | 7~10"| 74" | 7—8" V11'=8" | 10—10"] 10—2" 10-7" - -
1150 | 64" | 5~10"| 5~4" | 5'-8" | 8'=3" | 7-8" | 73" | 7=7" V11=6" [ 108" | 10~0" 10'-5" - -
120.0 6-3" | 5'=g" | 5-3" | 5'-7" J&-2" | 77 | 7-2" | 7=5” V114" | 10=6" | 911" 10'-4” - -
125.0 6-2" | 5'~7" | 5- 5-5" 18-1" | 7-6" | 70" | 7—4" [ 11=2" | 10=4" | g_g" | 10'_2" - -
1300 | 61" | 5'~6" | 50" | 5=4" | 7-11"{ 7-5" | 6'=11"] 7-3" |11=0" {10=3" | 98" | 100" - -
135.0 6-0" | 55" | 4=11"} 5'=3" } 7~10"| 7-3" | 6=10"| 7-2" Vio=11"|10-1" | & 6" | 9-11" - -
140.0 S5-11" 5~3" | 4-10"| 52" | 79" | 7-2" | 6~9" | 7=1* |10-9" | 10-0" | 95" | o~ 10" - -
145.0 5-10"| 5-2" | 4-9" | 5'=1* | 7-8" | 7~1" | 6~8" | 7=0" Vio=7" | 910" 9'-3" | 9'-8" - -
150.0 59" | 51" | 4=8" | 5-0" |\ =7 | 70" | &7 | e-11"f10-6" | 9=9" | 92" | 97" - -
155.0 5-7" | 50" | 4=7" L #-11"} 7=6" | 7=0" | 6-7" | e'—10"| 10=5" | 9-8" | 9_1" | 9—5" - -
160.0 5~6" | 411" 4=6" | 4'~10"| 7-5" | 6~11"| 6~6" | 6=9” | 10-3" | 9—7" 9-0" | 9'-4" - -
1650 | 55" | 4-10"| 4’-5" | 4’9" | 7~4* | 6-10"| 6=5" | 6'—8" | 10-2" | 9=5" | g—11" 9'-3" - -
170.0 54" | 410" 4-5" | 4’8" | 7-3" | 6-9" | 64" | 6-5" |10-1" | 9—2" 8'-9" | 9'-2" - -
1750 | 5=3" | 49" | 4~q" | g7 | 72" | 6=8" | 6'=4" | 6~7" |10~0" | 9°—3" 88" | 9'-1” - - PRODUCT REVISED
180.0 5-3" 1 4-g” | 4-3" | -6 | 7-2" | 67" | 63" | 6=6" | 9~11"| 9-2" 8'-6" | 9°-0" - - ?ﬁfﬁf’j’é’;ﬁ?“‘“mmﬁ"“ '
185.0 S=28 g L -2 e | 7o | 67" | =2 | 65" | 9—10"| 9—1" 8'~5" | 8'-11” - - Amp?&-%No 06
190.0 5=1" | 4-6" | 42" | 4’5" | 7-0" | 6'=6" | 6'=1" | 6'-5" | 9=9” | 9—0" | g'-3" 8'~10” - - “
1950 } 50" | 4—6" | 4=1" | 4'=4" | 6'-11"| 6'=5" | 6=1" | 64" | 9=8” |&=11" | 62" | -9 - - Miami Lfade Produdt Control
Division
NOTES - REFER TO ELEVATIONS ON SHEET 14 OF 16 Florida Building Code (High Velocity Hurricane Z one)
I-. FOR_MULLIONS INSTALLED W/0_STORM BARS 60mm SLAT ROLL—-UP SHUTTER | 4"
A) MULLION SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED Z ". E co INe. \ ROLLINGSHIELD, INC. 47;%?9
2. FOR MULLIONS INSTALLED W/ STORM BARS & HEADERS T TESTING & ENGNFERRG GO lesad 1)
A) MULLION SPACING SHALL BE SUCH THAT MAXIMUM HEADER SPAN SHALL NOT BE EXCEEDED ” ; N £33 'Sh'éne’ﬁ‘?:,;é:jf 15%1 c:%?:’:‘ffk‘f?‘s’g’ﬁm . i L A 09041
B) STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED lw: 01 2“:“* WALTEFEB,;"%ES??; PE. S e e R T i
FLORIDA Lic. # 44167 7 SHEET 16 OF 16




